ID: RFB 6628			0 "	0.1.5						
Item	Description	Unit	Quantity	Gerke Excavating T	otal l	Bay Ltd	Total	Reytec Construction Total	JE Construction Services, LLC	otal
Dana Did No. 4								No Did		
Base Bid No. 1								No Bid		
PART A - GENERAL										
A1	MOBILIZATION (MAX. 5% OF PART A)		1.00	\$22,621.12	\$22,621.12	\$35,000.00	\$35,000.00		\$55,000.00	\$55,000.00
A2	BONDS & INSURANCE	LS	1.00	\$110,389.79	\$110,389.79	\$80,156.00	\$80,156.00		\$81,000.00	\$81,000.00
A3	CLEAR RIGHT OF WAY	AL AC	10.00	\$1,629.97	\$16,299.70	\$13,400.00	\$134,000.00		\$4,000.00	\$40,000.00
A4	OZONE DAYS	EA	5.00	\$201.94	\$1,009.70	\$10.00	\$50.00		\$1.00	\$5.00
A5	TRAFFIC CONTROL MOBILIZATION	LS	1.00	\$12,075.00	\$12,075.00	\$19,000.00	\$19,000.00		\$314,000.00	\$314,000.00
A6	TEMPORARY TRAFFIC CONTROL	MO	15.00	\$1,417.50	\$21,262.50	\$5,600.00	\$84,000.00		\$20,000.00	\$300,000.00
A7	TEMPORARY TRAFFIC MESSAGE BOARD	EA	2.00	\$19,162.50	\$38,325.00	\$21,400.00	\$42,800.00		\$25,000.00	\$50,000.00
A8	TEMPORARY TRAFFIC CONTROL DESIGN BY A PROFESSIONAL ENGINEER	LS	1.00	\$45,307.50	\$45,307.50	\$45,500.00	\$45,500.00		\$35,000.00	\$35,000.00
A9	SWPPP AND BMPS	LS	1.00	\$133,726.65	\$133,726.65	\$140,900.00	\$140,900.00		\$84,000.00	\$84,000.00
A10	SURVEY MONUMENT	EA	2.00	\$202.91	\$405.82	\$440.00	\$880.00		\$740.00	\$1,480.00
A11	BLOCK SODDING	SY	10,000.00	\$10.24	\$102,400.00	\$9.20	\$92,000.00		\$10.00	\$100,000.00
A12	FENCE (IRON/WOOD/CHAINLINK) REMOVAL	LF	660.00	\$12.60	\$8,316.00	\$11.75	\$7,755.00		\$23.00	\$15,180.00
A13	FENCE (IRON/WOOD/CHAINLINK) REPLACEMENT	LF	635.00	\$50.40	\$32,004.00	\$78.00	\$49,530.00		\$25.00	\$15,875.00
A14	TEMPORARY INTERSECTION SIGNAL ADJUSTMENTS	LS	1.00	\$60,900.00	\$60,900.00	\$23,500.00	\$23,500.00		\$22,000.00	\$22,000.00
A15	TRAFFIC CONTROL POLICE OFFICER ASSISTANCE	HR	40.00	\$89.25	\$3,570.00	\$94.00	\$3,760.00		\$90.00	\$3,600.00
A16	ALLOWANCE FOR UNANTICIPATED ENVIRONMENTAL ISSUES	LS	1.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00		\$5,000.00	\$5,000.00
A17	ALLOWANCE FOR UNANTICIPATED GENERAL ACTIVITIES	AL	1.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00		\$10,000.00	\$10,000.00
Sub Totals					\$623,612.78		\$773,831.00			\$1,132,140.00
PART B - STREET IMPROVEMENTS										
B1	MOBILIZATION (MAX. 5% OF PART B)	LS	1.00	\$149,271.12	\$149,271.12	\$150,000.00	\$150,000.00		\$163,000.00	\$163,000.00
B2	STREET EXCAVATION AND EMBANKMENT	SY	33,100.00	\$11.84	\$391,904.00	\$9.50	\$314,450.00		\$22.00	\$728,200.00
B3	DEMOLITION OF ASPHALT DRIVEWAY	SY	3,200.00	\$4.76	\$15,232.00	\$3.00	\$9,600.00		\$11.00	\$35,200.00
B4	DEMOLITION OF CONCRETE DRIVEWAY	SY	2,700.00	\$5.64	\$15,228.00	\$17.75	\$47,925.00		\$22.00	\$59,400.00
B5	LIME STABILIZED AND COMPACTED SUBGRADE (OVERALL 8-INCH THICK	SY	26,500.00	\$14.68	\$389,020.00	\$26.00	\$689,000.00		\$18.00	\$477,000.00
B6	CRUSHED LIMESTONE FLEX BASE (11-INCH THICK)	SY	26,500.00	\$36.67	\$971,755.00	\$42.00	\$1,113,000.00		\$42.00	\$1,113,000.00
B7	HMAC (TYPE D) (FINAL SURFACE) (4-INCH THICK)	SY	26,500.00		\$1,100,280.00	\$28.00	\$742,000.00		\$34.00	\$901,000.00
B8	PRIME COAT (MC-30) (0.15 GAL/SY)	GAL	4,000.00	\$7.23	\$28,920.00	\$5.50	\$22,000.00		\$6.00	\$24,000.00
B9	SINGLE COURSE SURFACE TREATMENT (UNDERSEAL)	SY	26,500.00	\$4.75	\$125,875.00	\$3.30	\$87,450.00		\$4.00	\$106,000.00
B10	REINFORCED CONCRETE DRIVEWAY (6-INCH THICK)	SF	23,400.00	\$14.53	\$340,002.00	\$12.50	\$292,500.00		\$14.00	\$327,600.00
B11	REFL PAV MRK 6-INCH BROKEN YELLOW	LF	1,760.00	\$1.16	\$2,041.60	\$2.00	\$3,520.00		\$2.00	\$3,520.00
B12	REFL PAVABLE COLOR	LF	410.00	\$1.16	\$475.60	\$2.00	\$820.00		\$2.00	\$820.00
B13	REFL PAV MRK 6-INCH WHITE SOLID	LF	14,500.00	\$0.71	\$10,295.00	\$1.20	\$17,400.00		\$1.00	\$14,500.00
B14 B15	REFL PAV MRK 24-INCH WHITE SOLID (CROSSWALK AND STOP BAR)	LF	1,000.00	\$14.70	\$14,700.00	\$25.00	\$25,000.00		\$17.00	\$17,000.00
	RAISED PAVEMENT MARKERS TYPE II A-A	EA	100.00	\$7.88	\$788.00	\$13.50 \$980.00	\$1,350.00 \$29,400.00		\$9.00	\$900.00
B16 B17	FURNISH AND INSTALL NEW REGULATORY SIGNAGE WITH BASE* REMOVE AND DISPOSE OF EXISTING REGULATORY SIGNAGE WITH BASE	EA	30.00 27.00	\$934.50 \$367.50	\$28,035.00 \$9,922.50	\$130.00	\$3,510.00		\$990.00 \$77.00	\$29,700.00 \$2,079.00
B18	ALLOWANCE FOR UNANTICIPATED STREET IMPROVEMENTS	EA	1.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00		\$150,000.00	\$150,000.00
Sub Totals	ALLOWARDE FOR DIVARRION ATED OTHER TIME ROVEWILLING	AL	1.00	Ψ130,000.00	\$3,743,744.82	ψ130,000.00	\$3,698,925.00		ψ130,000.00	\$4,152,919.00
Cub Totals					ψυ, ι τυ, ι ττ.υΣ		ψ3,090,923.00			ψ4,102,919.00
PART C - ADA IMPROVEMENTS										
C1	MOBILIZATION (MAX. 5% OF PART C)	LS	1.00	\$18,750.00	\$18,750.00	\$30,000.00	\$30,000.00		\$30,000.00	\$30,000.00
C2	DEMOLITION OF CONCRETE SIDEWALK	LS SF	27,100.00	\$0.37	\$10,027.00	\$2.10	\$56,910.00		\$2.00	\$54,200.00
C3	REINFORCED CONCRETE SIDEWALK (4-INCH THICK) (INCLUDING 2-INCH	SF SF	55,650.00	\$6.97	\$387,880.50	\$7.10	\$395,115.00		\$9.00	\$500,850.00
C4	REINFORCED CONCRETE CURB RAMP	SF	3,350.00	\$27.02	\$90,517.00	\$40.00	\$134,000.00		\$25.00	\$83,750.00
C5	ALLOWANCE FOR UNANTICIPATED ADA IMPROVEMENTS	AL	1.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00		\$20,000.00	\$20,000.00
Sub Totals		ΛL		<del>+==,==3.00</del>	\$527,174.50	7=1,113.00	\$636,025.00		7=1,110.00	\$688,800.00
PART D - STORM WATER IMPROVEMENTS										
D1	MOBILIZATION (MAX. 5% OF PART D)	LS	1.00	\$254,555.83	\$254,555.83	\$325,150.00	\$325,150.00		\$199,000.00	\$199,000.00
D2	CURB AND GUTTER DEMOLITION	LF	7,200.00	\$5.09	\$36,648.00	\$5.80	\$41,760.00		\$7.00	\$50,400.00
D3	REMOVAL OF EXISTING STORMWATER PIPE (0-48")	LF	5,900.00	\$10.93	\$64,487.00	\$17.25	\$101,775.00		\$37.00	\$218,300.00
D4	REMOVAL OF EXISTING STORMWATER PIPE (48"+)	LF	4,020.00	\$11.51	\$46,270.20	\$24.00	\$96,480.00		\$44.00	\$176,880.00
D5	5' CURB INLET	EA	25.00	\$5,734.58	\$143,364.50	\$7,100.00	\$177,500.00		\$5,800.00	\$145,000.00
		_, .				•	•			

D6	5' CURB INLET (10' THROAT)	EA	29.00	\$7,874.98	\$228,374.4	2 \$9,900.00	\$287,100.00	\$8,900.00	\$2	258,100.00
D7	5' CURB INLET (15' THROAT)	EA	5.00	\$9,922.27	\$49,611.3		\$63,000.00	\$10,700.00		\$53,500.00
D8	10' CURB INLET	EA	1.00	\$10,270.98	\$10,270.9		\$10,000.00	\$9,700.00		\$9,700.00
D9	SPECIAL CURB INLET (TXDOT)	EA	2.00	\$11,372.06	\$22,744.1		\$32,600.00	\$20,200.00		\$40,400.00
D10	GRATE INLET (2' X 2') (TXDOT)	EA	1.00	\$1,822.69	\$1,822.6		\$4,200.00	\$6,900.00		\$6,900.00
D11	GRATE INLET (4' X 4') (TXDOT)	EA	2.00	\$6,439.19	\$12,878.3		\$12,400.00	\$8,000.00		\$16,000.00
D12	SIDEWALK DRAIN	EA	9.00	\$3,222.51	\$29,002.5		\$20,700.00	\$7,000.00		\$63,000.00
D13	MODIFY JUNCTION BOX (TXDOT)	EA	4.00	\$9,849.52	\$39,398.0	8 \$13,500.00	\$54,000.00	\$9,400.00	\$	\$37,600.00
D14	MANHOLE RISER STRUCTURE	EA	33.00	\$2,034.75	\$67,146.7	5 \$5,100.00	\$168,300.00	\$10,000.00	\$3	330,000.00
D15	SAFETY END TREATMENT (PARALLEL WALLS)	EA	1.00	\$64,385.32	\$64,385.3	2 \$15,300.00	\$15,300.00	\$21,000.00	\$	\$21,000.00
D16	TYPE D MANHOLE - 4'X4' JUNCTION BOX	EA	3.00	\$8,772.19	\$26,316.5	7 \$14,500.00	\$43,500.00	\$10,300.00	\$	\$30,900.00
D17	TYPE D MANHOLE - 6'X4' JUNCTION BOX	EA	3.00	\$10,451.54	\$31,354.6	2 \$16,600.00	\$49,800.00	\$13,000.00	\$	\$39,000.00
D18	TYPE D MANHOLE - 6'X6' JUNCTION BOX	EA	2.00	\$13,179.55	\$26,359.1	0 \$20,200.00	\$40,400.00	\$15,700.00	\$	\$31,400.00
D19	TYPE D MANHOLE - 8'X4' JUNCTION BOX	EA	6.00	\$17,568.11	\$105,408.6	6 \$24,300.00	\$145,800.00	\$16,000.00	\$	\$96,000.00
D20	TYPE D MANHOLE - 8'X8' JUNCTION BOX	EA	6.00	\$19,669.56	\$118,017.3	6 \$28,100.00	\$168,600.00	\$24,700.00	\$1	148,200.00
D21	TYPE A MANHOLE - 5' DIA	EA	2.00	\$4,175.15	\$8,350.3	0 \$9,500.00	\$19,000.00	\$10,300.00	\$	\$20,600.00
D22	18" RCP (CLASS III)	LF	655.00	\$117.23	\$76,785.6	5 \$200.00	\$131,000.00	\$278.00	\$1	182,090.00
D23	24" RCP (CLASS III)	LF	755.00	\$136.63	\$103,155.6	5 \$220.00	\$166,100.00	\$297.00	\$2	224,235.00
D24	30" RCP (CLASS III)	LF	60.00	\$171.41	\$10,284.6	0 \$320.00	\$19,200.00	\$298.00	\$	\$17,880.00
D25	36" RCP (CLASS III)	LF	460.00	\$209.31	\$96,282.6	0 \$280.00	\$128,800.00	\$248.00	\$1	114,080.00
D26	48" RCP (CLASS III)	LF	20.00	\$359.41	\$7,188.2	0 \$500.00	\$10,000.00	\$522.00	\$	\$10,440.00
D27	3'X3' REINFORCED CONCRETE BOX	LF	240.00	\$322.00	\$77,280.0	0 \$420.00	\$100,800.00	\$415.00	\$	\$99,600.00
D28	4'X3' REINFORCED CONCRETE BOX	LF	375.00	\$358.94	\$134,602.5	0 \$460.00	\$172,500.00	\$513.00	\$1	192,375.00
D29	4'X4' REINFORCED CONCRETE BOX	LF	745.00	\$395.92	\$294,960.4	0 \$470.00	\$350,150.00	\$542.00	\$4	403,790.00
D30	5'X3' REINFORCED CONCRETE BOX	LF	340.00	\$437.58	\$148,777.2	0 \$540.00	\$183,600.00	\$609.00	\$2	207,060.00
D31	5'X4' REINFORCED CONCRETE BOX	LF	1,120.00	\$468.74	\$524,988.8	0 \$550.00	\$616,000.00	\$649.00	\$7	726,880.00
D32	5'X5' REINFORCED CONCRETE BOX	LF	185.00	\$511.74	\$94,671.9	0 \$580.00	\$107,300.00	\$703.00	\$1	130,055.00
D33	6'X4' REINFORCED CONCRETE BOX	LF	2,015.00	\$572.26	\$1,153,103.9	0 \$660.00	\$1,329,900.00	\$749.00	\$1,5	509,235.00
D34	6'X5' REINFORCED CONCRETE BOX	LF	1,475.00	\$628.54	\$927,096.5	0 \$660.00	\$973,500.00	\$789.00	\$1,1	163,775.00
D35	6'X6' REINFORCED CONCRETE BOX	LF	40.00	\$696.01	\$27,840.4	0 \$740.00	\$29,600.00	\$884.00	\$	\$35,360.00
D36	24" RCP 30° BENDS	EA	1.00	\$1,492.01	\$1,492.0	1 \$2,000.00	\$2,000.00	\$3,300.00		\$3,300.00
D37	6'X4' REINFORCED CONCRETE BOX 15° BENDS	EA	1.00	\$3,610.46	\$3,610.4	6 \$5,400.00	\$5,400.00	\$15,000.00	\$	\$15,000.00
D38	5'X4' REINFORCED CONCRETE BOX 30° BENDS	EA	1.00	\$3,329.47	\$3,329.4	7 \$5,100.00	\$5,100.00	\$13,000.00	\$	\$13,000.00
D39	6'X4' REINFORCED CONCRETE BOX 30° BENDS	EA	2.00	\$3,607.53	\$7,215.0	6 \$5,400.00	\$10,800.00	\$15,000.00	\$	\$30,000.00
D40	REINFORCED CONCRETE CURB AND GUTTER (6-INCH) (INCLUDES BASE,	LF	14,580.00	\$36.55	\$532,899.0	0 \$33.00	\$481,140.00	\$27.00	\$3	393,660.00
D41	RIPRAP (12") (TXDOT ITEM 432)	SY	55.00	\$164.14	\$9,027.7	0 \$94.00	\$5,170.00	\$250.00	\$	\$13,750.00
D42	TRENCH SAFETY	LF	8,485.00	\$3.59	\$30,461.1	5 \$2.00	\$16,970.00	\$3.00	\$	\$25,455.00
D43	ALLOWANCE FOR UNANTICIPATED STORM WATER IMPROVEMENTS	AL	1.00	\$230,000.00	\$230,000.0	0 \$230,000.00	\$230,000.00	\$230,000.00	\$2	230,000.00
Sub Totals					\$5,881,819.9	7	\$6,952,395.00		\$7,7	732,900.00
PART E - WATER IMPROVEMENTS	MODILIZATION (MAY 50/ OF DART 5)		4.00	<b>#40.000.57</b>	¢40,000,5	7	<b>#</b> F0 000 00	Φ <b>Γ</b> 0 <b>Γ</b> 00 00	Φ.	¢50 500 00
E1	MOBILIZATION (MAX. 5% OF PART E)	LS	1.00	\$42,698.57	\$42,698.5		\$50,000.00	\$50,500.00		\$50,500.00
E2	REMOVE ASBESTOS CEMENT PIPE	LF	1,140.00	\$16.16	\$18,422.4		\$60,420.00	\$37.00		\$42,180.00
E3 E4	ABANDON WATERLINE IN PLACE - CAP AND GROUT	LF	5,670.00	\$6.84	\$38,782.8		\$76,545.00 \$347.750.00	\$18.00		102,060.00
E5	8-INCH DIA C900 PVC WATERLINE (DR 18)	LF	5,350.00	\$70.74	\$378,459.0		\$347,750.00	\$86.00 \$127.00		460,100.00
E6	8-INCH DIA DI WATERLINE 8-INCH BEND (11.25 DEG)	LF	508.00 2.00	\$83.97 \$639.24	\$42,656.7 \$1,278.4		\$60,960.00 \$1,460.00	\$127.00 \$636.00		\$64,516.00 \$1,272.00
E7	8-INCH BEND (22.5 DEG)	EA	3.00	\$659.28	\$1,276. <del>4</del> \$1,977.8		\$1,400.00	\$663.00		\$1,272.00
E8	8-INCH BEND (45 DEG)	EA	32.00	\$678.64	\$21,716.4		\$16,960.00	\$663.00		\$1,969.00 \$21,216.00
E9	8-INCH GATE VALVE & BOX	EA	35.00	\$3,304.62	\$115,661.7		\$73,500.00	\$2,414.00		\$84,490.00
E10	8" X 8" TAPPING SLEEVE	EA	1.00	\$5,775.19	\$5,775.1		\$3,700.00	\$8,540.00		\$8,540.00
E10 E11	8" X 6" TEE	EA	9.00	\$857.89	\$5,775.1 \$7,721.0		\$6,660.00	\$6,540.00 \$916.00		\$8,244.00
E12	8" X 8" TEE	EΑ	4.00	\$973.26	\$3,893.0		\$2,560.00	\$1,003.00		\$4,012.00
E13	8-INCH TIE-IN CONNECTION	EΑ	5.00	\$2,302.40	\$11,512.0		\$13,500.00	\$4,613.00		\$23,065.00
E14	6-INCH DIA C900 PVC WATERLINE (DR 18)	EA LF	320.00	\$63.27	\$20,246.4		\$35,200.00	\$128.00		\$40,960.00
E15	6-INCH DIA DI WATERLINE	LF I F	195.00	\$71.49	\$13,940.5		\$29,250.00	\$128.00		\$34,320.00
E16	6-INCH BEND (11.25 DEG)		1.00	\$427.68	\$427.6		\$400.00	\$514.00		\$514.00
E17	6-INCH BEND (22.5 DEG)	EA EA	15.00	\$486.21	\$7,293.1		\$5,850.00	\$500.00		\$7,500.00
E18	6-INCH BEND (45 DEG)	EA	22.00	\$524.94	\$11,548.6		\$9,680.00	\$517.00		\$11,374.00
E19	6-INCH GATE VALVE & BOX	EA	9.00	\$2,646.16	\$23,815.4		\$14,400.00	\$1,890.00		\$17,010.00
E20	6-INCH TIE-IN CONNECTION	EA	9.00	\$1,916.48	\$17,248.3		\$22,500.00	\$3,627.00		\$32,643.00
			<del>-</del>	+ -,	, ,	<del>-</del> ,-:3.00	. ,	+3,021.100	•	,

E21	FIRE HYDRANT ASSEMBLY (TYPE 1) (INCLUDING FH, VALVE AND DI LEAD)	EA	3.00	\$2,185.82	\$6,557.46	\$8,800.00	\$26,400.00			\$10,605.00	\$31,815.00
E22	FIRE HYDRANT ASSEMBLY (TYPE 2) (INCLUDING FH, VALVE AND DI LEAD)	EA	15.00	\$7,432.01	\$111,480.15	\$6,400.00	\$96,000.00			\$8,838.00	\$132,570.00
E23	SERVICE LINE REPLACEMENT (LONG)	EA	45.00	\$2,837.44	\$127,684.80	\$1,900.00	\$85,500.00			\$3,535.00	\$159,075.00
E24	SERVICE LINE REPLACEMENT (SHORT)	EA	22.00	\$2,086.84	\$45,910.48	\$1,700.00	\$37,400.00			\$2,525.00	\$55,550.00
E25	TRENCH SAFETY	LF	5,670.00	\$3.59	\$20,355.30	\$2.00	\$11,340.00			\$4.00	\$22,680.00
E26	ALLOWANCE FOR UNANTICIPATED WATER IMPROVEMENTS	ΑI	1.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00			\$50,000.00	\$50,000.00
Sub Totals		, L			\$1,147,063.68		\$1,139,525.00				\$1,468,195.00
PART F - WASTEWATER IMPROVEMENTS											
F1	MOBILIZATION (MAX. 5% OF PART F)	LS	1.00	\$33,250.00	\$33,250.00	\$50,000.00	\$50,000.00			\$50,500.00	\$50,500.00
F2	BYPASS PUMPING	LS	1.00	\$39,639.06	\$39,639.06	\$83,500.00	\$83,500.00			\$80,800.00	\$80,800.00
F3	6-INCH FORCEMAIN ADJUSTMENTS (70 LF)	LS	1.00	\$7,492.94	\$7,492.94	\$6,700.00	\$6,700.00			\$5,398.00	\$5,398.00
F4	REMOVE AND REPLACE 8" DR 26 WASTEWATER LINE (6' - 8' DEPTH)	l F	6,050.00	\$81.17	\$491,078.50	\$80.00	\$484,000.00			\$97.00	\$586,850.00
F5	TRENCH SAFETY REMOVE & REPLACE WASTEWATER LINE (6' - 8' DEPTH)	l F	6,050.00	\$3.59	\$21,719.50	\$2.50	\$15,125.00			\$4.00	\$24,200.00
F6	WASTEWATER SERVICE RECONSTRUCTION	EA	70.00	\$2,142.49	\$149,974.30	\$1,700.00	\$119,000.00			\$3,636.00	\$254,520.00
F7	4-FOOT DIA FIBERGLASS MANHOLE	EA	25.00	\$8,400.82	\$210,020.50	\$10,700.00	\$267,500.00			\$11,110.00	\$277,750.00
F8	18" STEEL CASING - CONFLICT STRUCTURES	I F	60.00	\$245.38	\$14,722.80	\$420.00	\$25,200.00			\$591.00	\$35,460.00
F9	TRENCH SAFETY FOR WASTEWATER MANHOLE	EA	15.00	\$747.95	\$11,219.25	\$450.00	\$6,750.00			\$354.00	\$5,310.00
F10	ALLOWANCE FOR UNANTICIPATED WASTEWATER IMPROVEMENTS	AL	1.00	\$55,000.00	\$55,000.00	\$55,000.00	\$55,000.00			\$55,000.00	\$55,000.00
Sub Totals	,,,,,,,,	AL	1.00		\$1,034,116.85	400,000.00	\$1,112,775.00			· · ·	\$1,375,788.00
out Totale					ψ1,001,110.00		ψ1,112,110.00				ψ1,010,100.00
PART G - GAS IMPROVEMENTS											
G1	MOBILIZATION (MAX. 5% OF PART I)	LS	1.00	\$1,750.00	\$1,750.00	\$13,000.00	\$13,000.00			\$7,000.00	\$7,000.00
G2	TRENCHING FOR GAS LINE	LS I F	8,950.00	\$5.45	\$48,777.50	\$33.00	\$295,350.00			\$15.00	\$134,250.00
G3	ALLOWANCE FOR UNANTICIPATED GAS IMPROVEMENTS	LF AL	1.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00			\$10,000.00	\$10,000.00
Sub Totals	ALLOWANGE FOR GRANNING AT ALL ON GIVE THE VEHICLE OF	AL	1.00	Ψ10,000.00	\$60,527.50	ψ10,000.00	\$318,350.00			ψ10,000.00	\$151,250.00
oub Totals					ψ00,027.00		ψο το,οοο.οο				Ψ101,200.00
Grand Total					\$13,018,060.10		\$14,631,826.00			\$	\$16,701,992.00
2-3-1-2 1 2-3-1					, ,		****,55**,525***				, ,
Base Bid No. 2											
PART A - GENERAL											
PART A - GENERAL A1	MOBILIZATION (MAX. 5% OF PART A)	I S	1.00	\$21,905.83	\$21,905.83	\$35,000.00	\$35,000.00	\$48,000.00	\$48,000.00	\$55,000.00	\$55,000.00
	MOBILIZATION (MAX. 5% OF PART A) BONDS & INSURANCE	LS Al	1.00 1.00	\$21,905.83 \$106,511.88	\$21,905.83 \$106,511.88	\$35,000.00 \$84,400.00	\$35,000.00 \$84,400.00	\$48,000.00 \$184,000.00	\$48,000.00 \$184,000.00	\$55,000.00 \$78,000.00	\$55,000.00 \$78,000.00
A1	,	AL		• •							
A1 A2	BONDS & INSURANCE	AL AC	1.00 10.00	\$106,511.88 \$1,629.97	\$106,511.88 \$16,299.70	\$84,400.00 \$14,105.00	\$84,400.00 \$141,050.00	\$184,000.00 \$20,000.00	\$184,000.00 \$200,000.00	\$78,000.00 \$4,000.00	\$78,000.00 \$40,000.00
A1 A2 A3	BONDS & INSURANCE CLEAR RIGHT OF WAY TRAFFIC CONTROL MOBILIZATION	AL AC LS	1.00 10.00 1.00	\$106,511.88 \$1,629.97 \$201.94	\$106,511.88 \$16,299.70 \$201.94	\$84,400.00 \$14,105.00 \$18,700.00	\$84,400.00 \$141,050.00 \$18,700.00	\$184,000.00 \$20,000.00 \$11,100.00	\$184,000.00 \$200,000.00 \$11,100.00	\$78,000.00 \$4,000.00 \$314,000.00	\$78,000.00 \$40,000.00 \$314,000.00
A1 A2 A3 A4 A5	BONDS & INSURANCE CLEAR RIGHT OF WAY TRAFFIC CONTROL MOBILIZATION TEMPORARY TRAFFIC CONTROL	AL AC LS MO	1.00 10.00 1.00 15.00	\$106,511.88 \$1,629.97 \$201.94 \$12,075.00	\$106,511.88 \$16,299.70 \$201.94 \$181,125.00	\$84,400.00 \$14,105.00 \$18,700.00 \$5,500.00	\$84,400.00 \$141,050.00 \$18,700.00 \$82,500.00	\$184,000.00 \$20,000.00 \$11,100.00 \$23,000.00	\$184,000.00 \$200,000.00 \$11,100.00 \$345,000.00	\$78,000.00 \$4,000.00 \$314,000.00 \$20,000.00	\$78,000.00 \$40,000.00 \$314,000.00 \$300,000.00
A1 A2 A3 A4 A5 A6	BONDS & INSURANCE CLEAR RIGHT OF WAY TRAFFIC CONTROL MOBILIZATION TEMPORARY TRAFFIC CONTROL TEMPORARY TRAFFIC MESSAGE BOARD	AL AC LS MO EA	1.00 10.00 1.00 15.00 2.00	\$106,511.88 \$1,629.97 \$201.94 \$12,075.00 \$19,162.50	\$106,511.88 \$16,299.70 \$201.94 \$181,125.00 \$38,325.00	\$84,400.00 \$14,105.00 \$18,700.00 \$5,500.00 \$21,100.00	\$84,400.00 \$141,050.00 \$18,700.00 \$82,500.00 \$42,200.00	\$184,000.00 \$20,000.00 \$11,100.00 \$23,000.00 \$20,000.00	\$184,000.00 \$200,000.00 \$11,100.00 \$345,000.00 \$40,000.00	\$78,000.00 \$4,000.00 \$314,000.00 \$20,000.00 \$25,000.00	\$78,000.00 \$40,000.00 \$314,000.00 \$300,000.00 \$50,000.00
A1 A2 A3 A4 A5	BONDS & INSURANCE CLEAR RIGHT OF WAY TRAFFIC CONTROL MOBILIZATION TEMPORARY TRAFFIC CONTROL TEMPORARY TRAFFIC MESSAGE BOARD TEMPORARY TRAFFIC CONTROL DESIGN BY A PROFESSIONAL ENGINEER	AL AC LS MO EA LS	1.00 10.00 1.00 15.00 2.00 1.00	\$106,511.88 \$1,629.97 \$201.94 \$12,075.00 \$19,162.50 \$45,307.50	\$106,511.88 \$16,299.70 \$201.94 \$181,125.00 \$38,325.00 \$45,307.50	\$84,400.00 \$14,105.00 \$18,700.00 \$5,500.00 \$21,100.00 \$44,800.00	\$84,400.00 \$141,050.00 \$18,700.00 \$82,500.00 \$42,200.00 \$44,800.00	\$184,000.00 \$20,000.00 \$11,100.00 \$23,000.00 \$20,000.00 \$15,000.00	\$184,000.00 \$200,000.00 \$11,100.00 \$345,000.00 \$40,000.00 \$15,000.00	\$78,000.00 \$4,000.00 \$314,000.00 \$20,000.00 \$25,000.00 \$35,000.00	\$78,000.00 \$40,000.00 \$314,000.00 \$300,000.00 \$50,000.00 \$35,000.00
A1 A2 A3 A4 A5 A6 A7	BONDS & INSURANCE CLEAR RIGHT OF WAY TRAFFIC CONTROL MOBILIZATION TEMPORARY TRAFFIC CONTROL TEMPORARY TRAFFIC MESSAGE BOARD TEMPORARY TRAFFIC CONTROL DESIGN BY A PROFESSIONAL ENGINEER SWPPP AND BMPS	AL AC LS MO EA LS	1.00 10.00 1.00 15.00 2.00 1.00	\$106,511.88 \$1,629.97 \$201.94 \$12,075.00 \$19,162.50 \$45,307.50 \$135,541.65	\$106,511.88 \$16,299.70 \$201.94 \$181,125.00 \$38,325.00 \$45,307.50 \$135,541.65	\$84,400.00 \$14,105.00 \$18,700.00 \$5,500.00 \$21,100.00 \$44,800.00 \$138,600.00	\$84,400.00 \$141,050.00 \$18,700.00 \$82,500.00 \$42,200.00 \$44,800.00 \$138,600.00	\$184,000.00 \$20,000.00 \$11,100.00 \$23,000.00 \$20,000.00 \$15,000.00 \$110,000.00	\$184,000.00 \$200,000.00 \$11,100.00 \$345,000.00 \$40,000.00 \$15,000.00 \$110,000.00	\$78,000.00 \$4,000.00 \$314,000.00 \$20,000.00 \$25,000.00 \$35,000.00 \$84,000.00	\$78,000.00 \$40,000.00 \$314,000.00 \$300,000.00 \$50,000.00 \$35,000.00 \$84,000.00
A1 A2 A3 A4 A5 A6 A7 A8 A9	BONDS & INSURANCE CLEAR RIGHT OF WAY TRAFFIC CONTROL MOBILIZATION TEMPORARY TRAFFIC CONTROL TEMPORARY TRAFFIC MESSAGE BOARD TEMPORARY TRAFFIC CONTROL DESIGN BY A PROFESSIONAL ENGINEER SWPPP AND BMPS SURVEY MONUMENT	AL AC LS MO EA LS LS	1.00 10.00 1.00 15.00 2.00 1.00 1.00 2.00	\$106,511.88 \$1,629.97 \$201.94 \$12,075.00 \$19,162.50 \$45,307.50 \$135,541.65 \$202.91	\$106,511.88 \$16,299.70 \$201.94 \$181,125.00 \$38,325.00 \$45,307.50 \$135,541.65 \$405.82	\$84,400.00 \$14,105.00 \$18,700.00 \$5,500.00 \$21,100.00 \$44,800.00 \$138,600.00 \$430.00	\$84,400.00 \$141,050.00 \$18,700.00 \$82,500.00 \$42,200.00 \$44,800.00 \$138,600.00 \$860.00	\$184,000.00 \$20,000.00 \$11,100.00 \$23,000.00 \$20,000.00 \$15,000.00 \$110,000.00 \$1,600.00	\$184,000.00 \$200,000.00 \$11,100.00 \$345,000.00 \$40,000.00 \$15,000.00 \$110,000.00 \$3,200.00	\$78,000.00 \$4,000.00 \$314,000.00 \$20,000.00 \$25,000.00 \$35,000.00 \$84,000.00 \$740.00	\$78,000.00 \$40,000.00 \$314,000.00 \$300,000.00 \$50,000.00 \$35,000.00 \$84,000.00 \$1,480.00
A1 A2 A3 A4 A5 A6 A7 A8 A9 A10	BONDS & INSURANCE CLEAR RIGHT OF WAY TRAFFIC CONTROL MOBILIZATION TEMPORARY TRAFFIC CONTROL TEMPORARY TRAFFIC MESSAGE BOARD TEMPORARY TRAFFIC CONTROL DESIGN BY A PROFESSIONAL ENGINEER SWPPP AND BMPS SURVEY MONUMENT BLOCK SODDING	AL AC LS MO EA LS LS EA SY	1.00 10.00 1.00 15.00 2.00 1.00 2.00 1.00 2.00	\$106,511.88 \$1,629.97 \$201.94 \$12,075.00 \$19,162.50 \$45,307.50 \$135,541.65 \$202.91 \$10.24	\$106,511.88 \$16,299.70 \$201.94 \$181,125.00 \$38,325.00 \$45,307.50 \$135,541.65 \$405.82 \$102,400.00	\$84,400.00 \$14,105.00 \$18,700.00 \$5,500.00 \$21,100.00 \$44,800.00 \$138,600.00 \$430.00 \$9.10	\$84,400.00 \$141,050.00 \$18,700.00 \$82,500.00 \$42,200.00 \$44,800.00 \$138,600.00 \$860.00 \$91,000.00	\$184,000.00 \$20,000.00 \$11,100.00 \$23,000.00 \$20,000.00 \$15,000.00 \$110,000.00 \$1,600.00 \$6.00	\$184,000.00 \$200,000.00 \$11,100.00 \$345,000.00 \$40,000.00 \$15,000.00 \$110,000.00 \$3,200.00 \$60,000.00	\$78,000.00 \$4,000.00 \$314,000.00 \$20,000.00 \$25,000.00 \$35,000.00 \$84,000.00 \$740.00 \$10.00	\$78,000.00 \$40,000.00 \$314,000.00 \$300,000.00 \$50,000.00 \$35,000.00 \$84,000.00 \$100,000.00
A1 A2 A3 A4 A5 A6 A7 A8 A9 A10 A11	BONDS & INSURANCE CLEAR RIGHT OF WAY TRAFFIC CONTROL MOBILIZATION TEMPORARY TRAFFIC CONTROL TEMPORARY TRAFFIC MESSAGE BOARD TEMPORARY TRAFFIC CONTROL DESIGN BY A PROFESSIONAL ENGINEER SWPPP AND BMPS SURVEY MONUMENT BLOCK SODDING FENCE (IRON/WOOD/CHAINLINK) REMOVAL	AL AC LS MO EA LS LS EA SY LF	1.00 10.00 1.00 15.00 2.00 1.00 2.00 1.00 2.00 10,000.00 660.00	\$106,511.88 \$1,629.97 \$201.94 \$12,075.00 \$19,162.50 \$45,307.50 \$135,541.65 \$202.91 \$10.24 \$12.60	\$106,511.88 \$16,299.70 \$201.94 \$181,125.00 \$38,325.00 \$45,307.50 \$135,541.65 \$405.82 \$102,400.00 \$8,316.00	\$84,400.00 \$14,105.00 \$18,700.00 \$5,500.00 \$21,100.00 \$44,800.00 \$138,600.00 \$430.00 \$9.10 \$11.50	\$84,400.00 \$141,050.00 \$18,700.00 \$82,500.00 \$42,200.00 \$44,800.00 \$138,600.00 \$860.00 \$91,000.00 \$7,590.00	\$184,000.00 \$20,000.00 \$11,100.00 \$23,000.00 \$20,000.00 \$15,000.00 \$110,000.00 \$6.00 \$5.00	\$184,000.00 \$200,000.00 \$11,100.00 \$345,000.00 \$40,000.00 \$15,000.00 \$110,000.00 \$3,200.00 \$60,000.00 \$3,300.00	\$78,000.00 \$4,000.00 \$314,000.00 \$20,000.00 \$25,000.00 \$35,000.00 \$84,000.00 \$740.00 \$10.00 \$23.00	\$78,000.00 \$40,000.00 \$314,000.00 \$300,000.00 \$50,000.00 \$35,000.00 \$4,000.00 \$100,000.00 \$15,180.00
A1 A2 A3 A4 A5 A6 A7 A8 A9 A10 A11 A12	BONDS & INSURANCE CLEAR RIGHT OF WAY TRAFFIC CONTROL MOBILIZATION TEMPORARY TRAFFIC CONTROL TEMPORARY TRAFFIC MESSAGE BOARD TEMPORARY TRAFFIC CONTROL DESIGN BY A PROFESSIONAL ENGINEER SWPPP AND BMPS SURVEY MONUMENT BLOCK SODDING FENCE (IRON/WOOD/CHAINLINK) REMOVAL FENCE (IRON/WOOD/CHAINLINK) REPLACEMENT	AL AC LS MO EA LS LS EA SY LF	1.00 10.00 1.00 15.00 2.00 1.00 2.00 10,000.00 660.00 635.00	\$106,511.88 \$1,629.97 \$201.94 \$12,075.00 \$19,162.50 \$45,307.50 \$135,541.65 \$202.91 \$10.24 \$12.60 \$63.00	\$106,511.88 \$16,299.70 \$201.94 \$181,125.00 \$38,325.00 \$45,307.50 \$135,541.65 \$405.82 \$102,400.00 \$8,316.00 \$40,005.00	\$84,400.00 \$14,105.00 \$18,700.00 \$5,500.00 \$21,100.00 \$44,800.00 \$138,600.00 \$430.00 \$9.10 \$11.50 \$77.00	\$84,400.00 \$141,050.00 \$18,700.00 \$82,500.00 \$42,200.00 \$44,800.00 \$138,600.00 \$860.00 \$91,000.00 \$7,590.00 \$48,895.00	\$184,000.00 \$20,000.00 \$11,100.00 \$23,000.00 \$20,000.00 \$15,000.00 \$110,000.00 \$6.00 \$5.00 \$44.00	\$184,000.00 \$200,000.00 \$11,100.00 \$345,000.00 \$40,000.00 \$15,000.00 \$110,000.00 \$3,200.00 \$60,000.00 \$3,300.00 \$27,940.00	\$78,000.00 \$4,000.00 \$314,000.00 \$20,000.00 \$25,000.00 \$35,000.00 \$84,000.00 \$740.00 \$10.00 \$23.00 \$25.00	\$78,000.00 \$40,000.00 \$314,000.00 \$300,000.00 \$50,000.00 \$35,000.00 \$4,000.00 \$100,000.00 \$15,180.00 \$15,875.00
A1 A2 A3 A4 A5 A6 A7 A8 A9 A10 A11 A12 A13	BONDS & INSURANCE CLEAR RIGHT OF WAY TRAFFIC CONTROL MOBILIZATION TEMPORARY TRAFFIC CONTROL TEMPORARY TRAFFIC MESSAGE BOARD TEMPORARY TRAFFIC CONTROL DESIGN BY A PROFESSIONAL ENGINEER SWPPP AND BMPS SURVEY MONUMENT BLOCK SODDING FENCE (IRON/WOOD/CHAINLINK) REMOVAL FENCE (IRON/WOOD/CHAINLINK) REPLACEMENT TEMPORARY INTERSECTION SIGNAL ADJUSTMENTS	AL AC LS MO EA LS EA SY LF LF LS	1.00 10.00 1.00 15.00 2.00 1.00 2.00 10,000.00 660.00 635.00 1.00	\$106,511.88 \$1,629.97 \$201.94 \$12,075.00 \$19,162.50 \$45,307.50 \$135,541.65 \$202.91 \$10.24 \$12.60 \$63.00 \$60,900.00	\$106,511.88 \$16,299.70 \$201.94 \$181,125.00 \$38,325.00 \$45,307.50 \$135,541.65 \$405.82 \$102,400.00 \$8,316.00 \$40,005.00 \$60,900.00	\$84,400.00 \$14,105.00 \$18,700.00 \$5,500.00 \$21,100.00 \$44,800.00 \$138,600.00 \$430.00 \$9.10 \$11.50 \$77.00 \$23,100.00	\$84,400.00 \$141,050.00 \$18,700.00 \$82,500.00 \$42,200.00 \$44,800.00 \$138,600.00 \$91,000.00 \$7,590.00 \$48,895.00 \$23,100.00	\$184,000.00 \$20,000.00 \$11,100.00 \$23,000.00 \$20,000.00 \$15,000.00 \$110,000.00 \$6.00 \$5.00 \$44.00 \$11,000.00	\$184,000.00 \$200,000.00 \$11,100.00 \$345,000.00 \$40,000.00 \$15,000.00 \$110,000.00 \$3,200.00 \$60,000.00 \$3,300.00 \$27,940.00 \$11,000.00	\$78,000.00 \$4,000.00 \$314,000.00 \$20,000.00 \$25,000.00 \$35,000.00 \$84,000.00 \$740.00 \$10.00 \$23.00 \$25.00	\$78,000.00 \$40,000.00 \$314,000.00 \$300,000.00 \$50,000.00 \$35,000.00 \$44,000.00 \$1,480.00 \$100,000.00 \$15,180.00 \$15,875.00 \$22,000.00
A1 A2 A3 A4 A5 A6 A7 A8 A9 A10 A11 A12 A13 A14	BONDS & INSURANCE CLEAR RIGHT OF WAY TRAFFIC CONTROL MOBILIZATION TEMPORARY TRAFFIC CONTROL TEMPORARY TRAFFIC MESSAGE BOARD TEMPORARY TRAFFIC CONTROL DESIGN BY A PROFESSIONAL ENGINEER SWPPP AND BMPS SURVEY MONUMENT BLOCK SODDING FENCE (IRON/WOOD/CHAINLINK) REMOVAL FENCE (IRON/WOOD/CHAINLINK) REPLACEMENT TEMPORARY INTERSECTION SIGNAL ADJUSTMENTS TRAFFIC CONTROL POLICE OFFICER ASSISTANCE	AL AC LS MO EA LS EA SY LF LF LS HR	1.00 10.00 1.00 15.00 2.00 1.00 2.00 10,000.00 660.00 635.00 1.00 40.00	\$106,511.88 \$1,629.97 \$201.94 \$12,075.00 \$19,162.50 \$45,307.50 \$135,541.65 \$202.91 \$10.24 \$12.60 \$63.00 \$60,900.00 \$89.25	\$106,511.88 \$16,299.70 \$201.94 \$181,125.00 \$38,325.00 \$45,307.50 \$135,541.65 \$405.82 \$102,400.00 \$8,316.00 \$40,005.00 \$60,900.00 \$3,570.00	\$84,400.00 \$14,105.00 \$18,700.00 \$5,500.00 \$21,100.00 \$44,800.00 \$138,600.00 \$430.00 \$9.10 \$11.50 \$77.00 \$23,100.00 \$92.00	\$84,400.00 \$141,050.00 \$18,700.00 \$82,500.00 \$42,200.00 \$44,800.00 \$138,600.00 \$860.00 \$91,000.00 \$7,590.00 \$48,895.00 \$23,100.00 \$3,680.00	\$184,000.00 \$20,000.00 \$11,100.00 \$23,000.00 \$20,000.00 \$15,000.00 \$110,000.00 \$6.00 \$5.00 \$44.00 \$11,000.00	\$184,000.00 \$200,000.00 \$11,100.00 \$345,000.00 \$40,000.00 \$15,000.00 \$110,000.00 \$3,200.00 \$60,000.00 \$3,300.00 \$27,940.00 \$11,000.00 \$2,640.00	\$78,000.00 \$4,000.00 \$314,000.00 \$20,000.00 \$25,000.00 \$35,000.00 \$84,000.00 \$740.00 \$10.00 \$23.00 \$25.00 \$29.000.00	\$78,000.00 \$40,000.00 \$314,000.00 \$300,000.00 \$50,000.00 \$35,000.00 \$44,000.00 \$100,000.00 \$15,180.00 \$15,875.00 \$22,000.00 \$3,600.00
A1 A2 A3 A4 A5 A6 A7 A8 A9 A10 A11 A12 A13 A14 A15	BONDS & INSURANCE CLEAR RIGHT OF WAY TRAFFIC CONTROL MOBILIZATION TEMPORARY TRAFFIC CONTROL TEMPORARY TRAFFIC MESSAGE BOARD TEMPORARY TRAFFIC CONTROL DESIGN BY A PROFESSIONAL ENGINEER SWPPP AND BMPS SURVEY MONUMENT BLOCK SODDING FENCE (IRON/WOOD/CHAINLINK) REMOVAL FENCE (IRON/WOOD/CHAINLINK) REPLACEMENT TEMPORARY INTERSECTION SIGNAL ADJUSTMENTS TRAFFIC CONTROL POLICE OFFICER ASSISTANCE ALLOWANCE FOR UNANTICIPATED ENVIRONMENTAL ISSUES	AL AC LS MO EA LS EA SY LF LF LS HR LS	1.00 10.00 1.00 15.00 2.00 1.00 2.00 10,000.00 660.00 635.00 1.00 40.00 1.00	\$106,511.88 \$1,629.97 \$201.94 \$12,075.00 \$19,162.50 \$45,307.50 \$135,541.65 \$202.91 \$10.24 \$12.60 \$63.00 \$60,900.00 \$89.25 \$5,000.00	\$106,511.88 \$16,299.70 \$201.94 \$181,125.00 \$38,325.00 \$45,307.50 \$135,541.65 \$405.82 \$102,400.00 \$8,316.00 \$40,005.00 \$60,900.00 \$3,570.00 \$5,000.00	\$84,400.00 \$14,105.00 \$18,700.00 \$5,500.00 \$21,100.00 \$44,800.00 \$138,600.00 \$430.00 \$9.10 \$11.50 \$77.00 \$23,100.00 \$92.00 \$5,000.00	\$84,400.00 \$141,050.00 \$18,700.00 \$82,500.00 \$42,200.00 \$44,800.00 \$138,600.00 \$860.00 \$91,000.00 \$7,590.00 \$48,895.00 \$23,100.00 \$3,680.00 \$5,000.00	\$184,000.00 \$20,000.00 \$11,100.00 \$23,000.00 \$20,000.00 \$15,000.00 \$110,000.00 \$6.00 \$5.00 \$44.00 \$11,000.00 \$66.00 \$5,000.00	\$184,000.00 \$200,000.00 \$11,100.00 \$345,000.00 \$40,000.00 \$15,000.00 \$3,200.00 \$60,000.00 \$3,300.00 \$27,940.00 \$11,000.00 \$2,640.00 \$5,000.00	\$78,000.00 \$4,000.00 \$314,000.00 \$20,000.00 \$25,000.00 \$35,000.00 \$84,000.00 \$740.00 \$10.00 \$23.00 \$25.00 \$20,000.00 \$90.00	\$78,000.00 \$40,000.00 \$314,000.00 \$300,000.00 \$50,000.00 \$35,000.00 \$1,480.00 \$100,000.00 \$15,180.00 \$15,875.00 \$22,000.00 \$3,600.00
A1 A2 A3 A4 A5 A6 A7 A8 A9 A10 A11 A12 A13 A14 A15 A16	BONDS & INSURANCE CLEAR RIGHT OF WAY TRAFFIC CONTROL MOBILIZATION TEMPORARY TRAFFIC CONTROL TEMPORARY TRAFFIC MESSAGE BOARD TEMPORARY TRAFFIC CONTROL DESIGN BY A PROFESSIONAL ENGINEER SWPPP AND BMPS SURVEY MONUMENT BLOCK SODDING FENCE (IRON/WOOD/CHAINLINK) REMOVAL FENCE (IRON/WOOD/CHAINLINK) REPLACEMENT TEMPORARY INTERSECTION SIGNAL ADJUSTMENTS TRAFFIC CONTROL POLICE OFFICER ASSISTANCE	AL AC LS MO EA LS EA SY LF LF LS HR	1.00 10.00 1.00 15.00 2.00 1.00 2.00 10,000.00 660.00 635.00 1.00 40.00	\$106,511.88 \$1,629.97 \$201.94 \$12,075.00 \$19,162.50 \$45,307.50 \$135,541.65 \$202.91 \$10.24 \$12.60 \$63.00 \$60,900.00 \$89.25	\$106,511.88 \$16,299.70 \$201.94 \$181,125.00 \$38,325.00 \$45,307.50 \$135,541.65 \$405.82 \$102,400.00 \$8,316.00 \$40,005.00 \$60,900.00 \$3,570.00 \$5,000.00 \$10,000.00	\$84,400.00 \$14,105.00 \$18,700.00 \$5,500.00 \$21,100.00 \$44,800.00 \$138,600.00 \$430.00 \$9.10 \$11.50 \$77.00 \$23,100.00 \$92.00	\$84,400.00 \$141,050.00 \$18,700.00 \$82,500.00 \$42,200.00 \$44,800.00 \$138,600.00 \$91,000.00 \$7,590.00 \$48,895.00 \$23,100.00 \$3,680.00 \$5,000.00	\$184,000.00 \$20,000.00 \$11,100.00 \$23,000.00 \$20,000.00 \$15,000.00 \$110,000.00 \$6.00 \$5.00 \$44.00 \$11,000.00	\$184,000.00 \$200,000.00 \$11,100.00 \$345,000.00 \$40,000.00 \$15,000.00 \$3,200.00 \$60,000.00 \$3,300.00 \$27,940.00 \$11,000.00 \$5,000.00 \$10,000.00	\$78,000.00 \$4,000.00 \$314,000.00 \$20,000.00 \$25,000.00 \$35,000.00 \$84,000.00 \$740.00 \$10.00 \$23.00 \$25.00 \$22,000.00 \$90.00 \$5,000.00	\$78,000.00 \$40,000.00 \$314,000.00 \$300,000.00 \$50,000.00 \$35,000.00 \$1,480.00 \$100,000.00 \$15,180.00 \$15,875.00 \$22,000.00 \$3,600.00 \$10,000.00
A1 A2 A3 A4 A5 A6 A7 A8 A9 A10 A11 A12 A13 A14 A15	BONDS & INSURANCE CLEAR RIGHT OF WAY TRAFFIC CONTROL MOBILIZATION TEMPORARY TRAFFIC CONTROL TEMPORARY TRAFFIC MESSAGE BOARD TEMPORARY TRAFFIC CONTROL DESIGN BY A PROFESSIONAL ENGINEER SWPPP AND BMPS SURVEY MONUMENT BLOCK SODDING FENCE (IRON/WOOD/CHAINLINK) REMOVAL FENCE (IRON/WOOD/CHAINLINK) REPLACEMENT TEMPORARY INTERSECTION SIGNAL ADJUSTMENTS TRAFFIC CONTROL POLICE OFFICER ASSISTANCE ALLOWANCE FOR UNANTICIPATED ENVIRONMENTAL ISSUES	AL AC LS MO EA LS EA SY LF LF LS HR LS	1.00 10.00 1.00 15.00 2.00 1.00 2.00 10,000.00 660.00 635.00 1.00 40.00 1.00	\$106,511.88 \$1,629.97 \$201.94 \$12,075.00 \$19,162.50 \$45,307.50 \$135,541.65 \$202.91 \$10.24 \$12.60 \$63.00 \$60,900.00 \$89.25 \$5,000.00	\$106,511.88 \$16,299.70 \$201.94 \$181,125.00 \$38,325.00 \$45,307.50 \$135,541.65 \$405.82 \$102,400.00 \$8,316.00 \$40,005.00 \$60,900.00 \$3,570.00 \$5,000.00	\$84,400.00 \$14,105.00 \$18,700.00 \$5,500.00 \$21,100.00 \$44,800.00 \$138,600.00 \$430.00 \$9.10 \$11.50 \$77.00 \$23,100.00 \$92.00 \$5,000.00	\$84,400.00 \$141,050.00 \$18,700.00 \$82,500.00 \$42,200.00 \$44,800.00 \$138,600.00 \$860.00 \$91,000.00 \$7,590.00 \$48,895.00 \$23,100.00 \$3,680.00 \$5,000.00	\$184,000.00 \$20,000.00 \$11,100.00 \$23,000.00 \$20,000.00 \$15,000.00 \$110,000.00 \$6.00 \$5.00 \$44.00 \$11,000.00 \$66.00 \$5,000.00	\$184,000.00 \$200,000.00 \$11,100.00 \$345,000.00 \$40,000.00 \$15,000.00 \$3,200.00 \$60,000.00 \$3,300.00 \$27,940.00 \$11,000.00 \$2,640.00 \$5,000.00	\$78,000.00 \$4,000.00 \$314,000.00 \$20,000.00 \$25,000.00 \$35,000.00 \$84,000.00 \$740.00 \$10.00 \$23.00 \$25.00 \$22,000.00 \$90.00 \$5,000.00	\$78,000.00 \$40,000.00 \$314,000.00 \$300,000.00 \$50,000.00 \$35,000.00 \$1,480.00 \$100,000.00 \$15,180.00 \$15,875.00 \$22,000.00 \$3,600.00
A1 A2 A3 A4 A5 A6 A7 A8 A9 A10 A11 A12 A13 A14 A15 A16 Sub Totals	BONDS & INSURANCE CLEAR RIGHT OF WAY TRAFFIC CONTROL MOBILIZATION TEMPORARY TRAFFIC CONTROL TEMPORARY TRAFFIC MESSAGE BOARD TEMPORARY TRAFFIC CONTROL DESIGN BY A PROFESSIONAL ENGINEER SWPPP AND BMPS SURVEY MONUMENT BLOCK SODDING FENCE (IRON/WOOD/CHAINLINK) REMOVAL FENCE (IRON/WOOD/CHAINLINK) REPLACEMENT TEMPORARY INTERSECTION SIGNAL ADJUSTMENTS TRAFFIC CONTROL POLICE OFFICER ASSISTANCE ALLOWANCE FOR UNANTICIPATED ENVIRONMENTAL ISSUES	AL AC LS MO EA LS EA SY LF LF LS HR LS	1.00 10.00 1.00 15.00 2.00 1.00 2.00 10,000.00 660.00 635.00 1.00 40.00 1.00	\$106,511.88 \$1,629.97 \$201.94 \$12,075.00 \$19,162.50 \$45,307.50 \$135,541.65 \$202.91 \$10.24 \$12.60 \$63.00 \$60,900.00 \$89.25 \$5,000.00	\$106,511.88 \$16,299.70 \$201.94 \$181,125.00 \$38,325.00 \$45,307.50 \$135,541.65 \$405.82 \$102,400.00 \$8,316.00 \$40,005.00 \$60,900.00 \$3,570.00 \$5,000.00 \$10,000.00	\$84,400.00 \$14,105.00 \$18,700.00 \$5,500.00 \$21,100.00 \$44,800.00 \$138,600.00 \$430.00 \$9.10 \$11.50 \$77.00 \$23,100.00 \$92.00 \$5,000.00	\$84,400.00 \$141,050.00 \$18,700.00 \$82,500.00 \$42,200.00 \$44,800.00 \$138,600.00 \$91,000.00 \$7,590.00 \$48,895.00 \$23,100.00 \$3,680.00 \$5,000.00	\$184,000.00 \$20,000.00 \$11,100.00 \$23,000.00 \$20,000.00 \$15,000.00 \$110,000.00 \$6.00 \$5.00 \$44.00 \$11,000.00 \$66.00 \$5,000.00	\$184,000.00 \$200,000.00 \$11,100.00 \$345,000.00 \$40,000.00 \$15,000.00 \$3,200.00 \$60,000.00 \$3,300.00 \$27,940.00 \$11,000.00 \$5,000.00 \$10,000.00	\$78,000.00 \$4,000.00 \$314,000.00 \$20,000.00 \$25,000.00 \$35,000.00 \$84,000.00 \$740.00 \$10.00 \$23.00 \$25.00 \$22,000.00 \$90.00 \$5,000.00	\$78,000.00 \$40,000.00 \$314,000.00 \$300,000.00 \$50,000.00 \$35,000.00 \$1,480.00 \$100,000.00 \$15,180.00 \$15,875.00 \$22,000.00 \$3,600.00 \$10,000.00
A1 A2 A3 A4 A5 A6 A7 A8 A9 A10 A11 A12 A13 A14 A15 A16 Sub Totals	BONDS & INSURANCE CLEAR RIGHT OF WAY TRAFFIC CONTROL MOBILIZATION TEMPORARY TRAFFIC CONTROL TEMPORARY TRAFFIC CONTROL TEMPORARY TRAFFIC MESSAGE BOARD TEMPORARY TRAFFIC CONTROL DESIGN BY A PROFESSIONAL ENGINEER SWPPP AND BMPS SURVEY MONUMENT BLOCK SODDING FENCE (IRON/WOOD/CHAINLINK) REMOVAL FENCE (IRON/WOOD/CHAINLINK) REPLACEMENT TEMPORARY INTERSECTION SIGNAL ADJUSTMENTS TRAFFIC CONTROL POLICE OFFICER ASSISTANCE ALLOWANCE FOR UNANTICIPATED ENVIRONMENTAL ISSUES ALLOWANCE FOR UNANTICIPATED GENERAL ACTIVITIES	AL AC LS MO EA LS EA SY LF LF LS HR LS AL	1.00 10.00 1.00 15.00 2.00 1.00 2.00 10,000.00 660.00 635.00 1.00 40.00 1.00	\$106,511.88 \$1,629.97 \$201.94 \$12,075.00 \$19,162.50 \$45,307.50 \$135,541.65 \$202.91 \$10.24 \$12.60 \$63.00 \$60,900.00 \$89.25 \$5,000.00 \$10,000.00	\$106,511.88 \$16,299.70 \$201.94 \$181,125.00 \$38,325.00 \$45,307.50 \$135,541.65 \$405.82 \$102,400.00 \$8,316.00 \$40,005.00 \$60,900.00 \$3,570.00 \$5,000.00 \$775,815.32	\$84,400.00 \$14,105.00 \$18,700.00 \$5,500.00 \$21,100.00 \$44,800.00 \$138,600.00 \$430.00 \$9.10 \$11.50 \$77.00 \$23,100.00 \$92.00 \$5,000.00 \$10,000.00	\$84,400.00 \$141,050.00 \$18,700.00 \$82,500.00 \$42,200.00 \$44,800.00 \$138,600.00 \$91,000.00 \$7,590.00 \$48,895.00 \$23,100.00 \$3,680.00 \$5,000.00 \$10,000.00	\$184,000.00 \$20,000.00 \$11,100.00 \$23,000.00 \$20,000.00 \$15,000.00 \$110,000.00 \$6.00 \$5.00 \$44.00 \$11,000.00 \$66.00 \$5,000.00 \$1,000.00	\$184,000.00 \$200,000.00 \$11,100.00 \$345,000.00 \$40,000.00 \$15,000.00 \$3,200.00 \$60,000.00 \$3,300.00 \$27,940.00 \$11,000.00 \$5,000.00 \$10,000.00 \$10,000.00	\$78,000.00 \$4,000.00 \$314,000.00 \$20,000.00 \$25,000.00 \$35,000.00 \$84,000.00 \$740.00 \$10.00 \$23.00 \$25.00 \$22,000.00 \$90.00 \$5,000.00	\$78,000.00 \$40,000.00 \$314,000.00 \$300,000.00 \$50,000.00 \$35,000.00 \$1,480.00 \$100,000.00 \$15,180.00 \$15,875.00 \$22,000.00 \$3,600.00 \$10,000.00 \$110,000.00 \$110,000.00
A1 A2 A3 A4 A5 A6 A7 A8 A9 A10 A11 A12 A13 A14 A15 B1 A16 Sub Totals  PART B - STREET IMPROVEMENTS B1	BONDS & INSURANCE CLEAR RIGHT OF WAY TRAFFIC CONTROL MOBILIZATION TEMPORARY TRAFFIC CONTROL TEMPORARY TRAFFIC MESSAGE BOARD TEMPORARY TRAFFIC CONTROL DESIGN BY A PROFESSIONAL ENGINEER SWPPP AND BMPS SURVEY MONUMENT BLOCK SODDING FENCE (IRON/WOOD/CHAINLINK) REMOVAL FENCE (IRON/WOOD/CHAINLINK) REPLACEMENT TEMPORARY INTERSECTION SIGNAL ADJUSTMENTS TRAFFIC CONTROL POLICE OFFICER ASSISTANCE ALLOWANCE FOR UNANTICIPATED ENVIRONMENTAL ISSUES ALLOWANCE FOR UNANTICIPATED GENERAL ACTIVITIES	AL AC LS MO EA LS EA SY LF LS HR LS AL	1.00 10.00 1.00 15.00 2.00 1.00 2.00 10,000.00 660.00 635.00 1.00 40.00 1.00	\$106,511.88 \$1,629.97 \$201.94 \$12,075.00 \$19,162.50 \$45,307.50 \$135,541.65 \$202.91 \$10.24 \$12.60 \$63.00 \$60,900.00 \$89.25 \$5,000.00 \$10,000.00	\$106,511.88 \$16,299.70 \$201.94 \$181,125.00 \$38,325.00 \$45,307.50 \$135,541.65 \$405.82 \$102,400.00 \$8,316.00 \$40,005.00 \$60,900.00 \$5,000.00 \$10,000.00 \$775,815.32	\$84,400.00 \$14,105.00 \$18,700.00 \$5,500.00 \$21,100.00 \$44,800.00 \$138,600.00 \$9.10 \$11.50 \$77.00 \$23,100.00 \$92.00 \$5,000.00 \$10,000.00	\$84,400.00 \$141,050.00 \$18,700.00 \$82,500.00 \$42,200.00 \$44,800.00 \$138,600.00 \$91,000.00 \$7,590.00 \$48,895.00 \$23,100.00 \$3,680.00 \$10,000.00 \$777,375.00	\$184,000.00 \$20,000.00 \$11,100.00 \$23,000.00 \$20,000.00 \$15,000.00 \$110,000.00 \$6.00 \$5.00 \$44.00 \$11,000.00 \$66.00 \$5,000.00 \$10,000.00	\$184,000.00 \$200,000.00 \$11,100.00 \$345,000.00 \$40,000.00 \$15,000.00 \$3,200.00 \$60,000.00 \$3,300.00 \$27,940.00 \$11,000.00 \$2,640.00 \$5,000.00 \$10,000.00 \$1,076,180.00	\$78,000.00 \$4,000.00 \$314,000.00 \$20,000.00 \$25,000.00 \$35,000.00 \$84,000.00 \$740.00 \$10.00 \$23.00 \$25.00 \$22,000.00 \$90.00 \$5,000.00	\$78,000.00 \$40,000.00 \$314,000.00 \$300,000.00 \$50,000.00 \$35,000.00 \$14,480.00 \$100,000.00 \$15,180.00 \$15,875.00 \$22,000.00 \$3,600.00 \$10,000.00 \$11,129,135.00
A1 A2 A3 A4 A5 A6 A7 A8 A9 A10 A11 A12 A13 A14 A15 B1 B2	BONDS & INSURANCE CLEAR RIGHT OF WAY TRAFFIC CONTROL MOBILIZATION TEMPORARY TRAFFIC CONTROL TEMPORARY TRAFFIC MESSAGE BOARD TEMPORARY TRAFFIC CONTROL DESIGN BY A PROFESSIONAL ENGINEER SWPPP AND BMPS SURVEY MONUMENT BLOCK SODDING FENCE (IRON/WOOD/CHAINLINK) REMOVAL FENCE (IRON/WOOD/CHAINLINK) REPLACEMENT TEMPORARY INTERSECTION SIGNAL ADJUSTMENTS TRAFFIC CONTROL POLICE OFFICER ASSISTANCE ALLOWANCE FOR UNANTICIPATED ENVIRONMENTAL ISSUES ALLOWANCE FOR UNANTICIPATED GENERAL ACTIVITIES  MOBILIZATION (MAX. 5% OF PART B) STREET EXCAVATION AND EMBANKMENT	AL AC LS MO EA LS EA SY LF LS HR LS AL LS SY	1.00 10.00 1.00 15.00 2.00 1.00 2.00 10,000.00 660.00 635.00 1.00 40.00 1.00 1.00	\$106,511.88 \$1,629.97 \$201.94 \$12,075.00 \$19,162.50 \$45,307.50 \$135,541.65 \$202.91 \$10.24 \$12.60 \$63.00 \$60,900.00 \$89.25 \$5,000.00 \$10,000.00	\$106,511.88 \$16,299.70 \$201.94 \$181,125.00 \$38,325.00 \$45,307.50 \$135,541.65 \$405.82 \$102,400.00 \$8,316.00 \$40,005.00 \$60,900.00 \$5,000.00 \$775,815.32	\$84,400.00 \$14,105.00 \$18,700.00 \$5,500.00 \$21,100.00 \$44,800.00 \$138,600.00 \$430.00 \$9.10 \$11.50 \$77.00 \$23,100.00 \$92.00 \$5,000.00 \$10,000.00	\$84,400.00 \$141,050.00 \$18,700.00 \$82,500.00 \$42,200.00 \$44,800.00 \$138,600.00 \$91,000.00 \$7,590.00 \$48,895.00 \$23,100.00 \$5,000.00 \$10,000.00 \$777,375.00	\$184,000.00 \$20,000.00 \$11,100.00 \$23,000.00 \$20,000.00 \$15,000.00 \$110,000.00 \$6.00 \$5.00 \$44.00 \$11,000.00 \$66.00 \$5,000.00 \$10,000.00	\$184,000.00 \$200,000.00 \$11,100.00 \$345,000.00 \$40,000.00 \$15,000.00 \$3,200.00 \$60,000.00 \$3,300.00 \$27,940.00 \$11,000.00 \$2,640.00 \$5,000.00 \$10,000.00 \$1,076,180.00 \$182,000.00 \$430,300.00	\$78,000.00 \$4,000.00 \$314,000.00 \$20,000.00 \$25,000.00 \$35,000.00 \$84,000.00 \$740.00 \$10.00 \$23.00 \$25.00 \$22,000.00 \$90.00 \$5,000.00 \$10,000.00	\$78,000.00 \$40,000.00 \$314,000.00 \$300,000.00 \$50,000.00 \$35,000.00 \$14,480.00 \$100,000.00 \$15,180.00 \$15,875.00 \$22,000.00 \$3,600.00 \$10,000.00 \$11,129,135.00 \$150,000.00 \$150,000.00 \$150,000.00
A1 A2 A3 A4 A5 A6 A7 A8 A9 A10 A11 A12 A13 A14 A15 B1 B2 B3	BONDS & INSURANCE CLEAR RIGHT OF WAY TRAFFIC CONTROL MOBILIZATION TEMPORARY TRAFFIC CONTROL TEMPORARY TRAFFIC MESSAGE BOARD TEMPORARY TRAFFIC CONTROL DESIGN BY A PROFESSIONAL ENGINEER SWPPP AND BMPS SURVEY MONUMENT BLOCK SODDING FENCE (IRON/WOOD/CHAINLINK) REMOVAL FENCE (IRON/WOOD/CHAINLINK) REPLACEMENT TEMPORARY INTERSECTION SIGNAL ADJUSTMENTS TRAFFIC CONTROL POLICE OFFICER ASSISTANCE ALLOWANCE FOR UNANTICIPATED ENVIRONMENTAL ISSUES ALLOWANCE FOR UNANTICIPATED GENERAL ACTIVITIES  MOBILIZATION (MAX. 5% OF PART B) STREET EXCAVATION AND EMBANKMENT DEMOLITION OF ASPHALT DRIVEWAY	AL AC LS MO EA LS EA SY LF LS HR LS AL LS SY SY	1.00 10.00 1.00 15.00 2.00 1.00 1.00 2.00 10,000.00 660.00 635.00 1.00 40.00 1.00 1.00 33,100.00 3,200.00	\$106,511.88 \$1,629.97 \$201.94 \$12,075.00 \$19,162.50 \$45,307.50 \$135,541.65 \$202.91 \$10.24 \$12.60 \$63.00 \$60,900.00 \$89.25 \$5,000.00 \$10,000.00	\$106,511.88 \$16,299.70 \$201.94 \$181,125.00 \$38,325.00 \$45,307.50 \$135,541.65 \$405.82 \$102,400.00 \$8,316.00 \$40,005.00 \$60,900.00 \$3,570.00 \$5,000.00 \$775,815.32	\$84,400.00 \$14,105.00 \$18,700.00 \$5,500.00 \$21,100.00 \$44,800.00 \$138,600.00 \$9.10 \$11.50 \$77.00 \$23,100.00 \$92.00 \$5,000.00 \$10,000.00	\$84,400.00 \$141,050.00 \$18,700.00 \$82,500.00 \$42,200.00 \$44,800.00 \$138,600.00 \$91,000.00 \$7,590.00 \$48,895.00 \$23,100.00 \$3,680.00 \$5,000.00 \$777,375.00	\$184,000.00 \$20,000.00 \$11,100.00 \$23,000.00 \$20,000.00 \$15,000.00 \$110,000.00 \$6.00 \$5.00 \$44.00 \$11,000.00 \$66.00 \$5,000.00 \$10,000.00	\$184,000.00 \$200,000.00 \$11,100.00 \$345,000.00 \$40,000.00 \$15,000.00 \$110,000.00 \$3,200.00 \$60,000.00 \$3,300.00 \$27,940.00 \$11,000.00 \$5,000.00 \$10,000.00 \$10,000.00 \$182,000.00 \$430,300.00 \$16,000.00	\$78,000.00 \$4,000.00 \$314,000.00 \$20,000.00 \$25,000.00 \$35,000.00 \$84,000.00 \$740.00 \$10.00 \$23.00 \$25.00 \$22,000.00 \$90.00 \$5,000.00 \$10,000.00	\$78,000.00 \$40,000.00 \$314,000.00 \$300,000.00 \$50,000.00 \$35,000.00 \$1,480.00 \$100,000.00 \$15,180.00 \$15,875.00 \$22,000.00 \$3,600.00 \$10,000.00 \$1,129,135.00 \$150,000.00 \$150,000.00 \$35,200.00 \$35,200.00
A1 A2 A3 A4 A5 A6 A7 A8 A9 A10 A11 A12 A13 A14 A15 B1 B2 B3 B4	BONDS & INSURANCE CLEAR RIGHT OF WAY TRAFFIC CONTROL MOBILIZATION TEMPORARY TRAFFIC CONTROL TEMPORARY TRAFFIC MESSAGE BOARD TEMPORARY TRAFFIC CONTROL DESIGN BY A PROFESSIONAL ENGINEER SWPPP AND BMPS SURVEY MONUMENT BLOCK SODDING FENCE (IRON/WOOD/CHAINLINK) REMOVAL FENCE (IRON/WOOD/CHAINLINK) REPLACEMENT TEMPORARY INTERSECTION SIGNAL ADJUSTMENTS TRAFFIC CONTROL POLICE OFFICER ASSISTANCE ALLOWANCE FOR UNANTICIPATED ENVIRONMENTAL ISSUES ALLOWANCE FOR UNANTICIPATED GENERAL ACTIVITIES  MOBILIZATION (MAX. 5% OF PART B) STREET EXCAVATION AND EMBANKMENT DEMOLITION OF ASPHALT DRIVEWAY DEMOLITION OF CONCRETE DRIVEWAY	AL AC LS MO EA LS EA SY LF LS HR LS AL  LS SY SY	1.00 10.00 1.00 1.00 15.00 2.00 1.00 1.00 2.00 10,000.00 660.00 635.00 1.00 40.00 1.00 1.00 33,100.00 3,200.00 2,700.00	\$106,511.88 \$1,629.97 \$201.94 \$12,075.00 \$19,162.50 \$45,307.50 \$135,541.65 \$202.91 \$10.24 \$12.60 \$63.00 \$60,900.00 \$89.25 \$5,000.00 \$110,000.00	\$106,511.88 \$16,299.70 \$201.94 \$181,125.00 \$38,325.00 \$45,307.50 \$135,541.65 \$405.82 \$102,400.00 \$8,316.00 \$40,005.00 \$60,900.00 \$3,570.00 \$5,000.00 \$775,815.32 \$144,871.12 \$391,904.00 \$15,232.00 \$15,228.00	\$84,400.00 \$14,105.00 \$18,700.00 \$5,500.00 \$21,100.00 \$44,800.00 \$138,600.00 \$9.10 \$11.50 \$77.00 \$23,100.00 \$92.00 \$5,000.00 \$10,000.00	\$84,400.00 \$141,050.00 \$18,700.00 \$82,500.00 \$42,200.00 \$44,800.00 \$138,600.00 \$91,000.00 \$7,590.00 \$48,895.00 \$23,100.00 \$5,000.00 \$7,7375.00 \$235,000.00 \$311,140.00 \$9,600.00 \$47,250.00	\$184,000.00 \$20,000.00 \$11,100.00 \$23,000.00 \$20,000.00 \$15,000.00 \$110,000.00 \$6.00 \$5.00 \$44.00 \$11,000.00 \$66.00 \$5,000.00 \$10,000.00	\$184,000.00 \$200,000.00 \$11,100.00 \$345,000.00 \$40,000.00 \$15,000.00 \$110,000.00 \$3,200.00 \$60,000.00 \$3,300.00 \$27,940.00 \$11,000.00 \$11,000.00 \$10,000.00 \$10,000.00 \$430,300.00 \$16,000.00 \$18,900.00	\$78,000.00 \$4,000.00 \$314,000.00 \$20,000.00 \$25,000.00 \$35,000.00 \$34,000.00 \$740.00 \$10.00 \$22,000.00 \$90.00 \$5,000.00 \$10,000.00 \$110,000.00	\$78,000.00 \$40,000.00 \$314,000.00 \$300,000.00 \$50,000.00 \$35,000.00 \$1,480.00 \$100,000.00 \$15,180.00 \$15,875.00 \$22,000.00 \$3,600.00 \$1,000.00 \$1,129,135.00 \$150,000.00 \$150,000.00 \$150,000.00 \$150,000.00 \$150,000.00 \$150,000.00 \$150,000.00 \$150,000.00 \$150,000.00 \$150,000.00 \$150,000.00 \$150,000.00 \$150,000.00 \$150,000.00 \$150,000.00 \$150,000.00 \$150,000.00
A1 A2 A3 A4 A5 A6 A7 A8 A9 A10 A11 A12 A13 A14 A15 B1 B2 B3 B4 B5	BONDS & INSURANCE CLEAR RIGHT OF WAY TRAFFIC CONTROL MOBILIZATION TEMPORARY TRAFFIC CONTROL TEMPORARY TRAFFIC MESSAGE BOARD TEMPORARY TRAFFIC CONTROL DESIGN BY A PROFESSIONAL ENGINEER SWPPP AND BMPS SURVEY MONUMENT BLOCK SODDING FENCE (IRON/WOOD/CHAINLINK) REMOVAL FENCE (IRON/WOOD/CHAINLINK) REPLACEMENT TEMPORARY INTERSECTION SIGNAL ADJUSTMENTS TRAFFIC CONTROL POLICE OFFICER ASSISTANCE ALLOWANCE FOR UNANTICIPATED ENVIRONMENTAL ISSUES ALLOWANCE FOR UNANTICIPATED GENERAL ACTIVITIES  MOBILIZATION (MAX. 5% OF PART B) STREET EXCAVATION AND EMBANKMENT DEMOLITION OF ASPHALT DRIVEWAY DEMOLITION OF CONCRETE DRIVEWAY LIME STABILIZED AND COMPACTED SUBGRADE (OVERALL 8-INCH THICK	AL AC LS MO EA LS EA SY LF LS HR LS AL  LS SY SY SY	1.00 10.00 1.00 1.00 15.00 2.00 1.00 1.00 2.00 10,000.00 660.00 635.00 1.00 40.00 1.00 1.00 33,100.00 3,200.00 2,700.00 26,500.00	\$106,511.88 \$1,629.97 \$201.94 \$12,075.00 \$19,162.50 \$45,307.50 \$135,541.65 \$202.91 \$10.24 \$12.60 \$63.00 \$60,900.00 \$89.25 \$5,000.00 \$10,000.00	\$106,511.88 \$16,299.70 \$201.94 \$181,125.00 \$38,325.00 \$45,307.50 \$135,541.65 \$405.82 \$102,400.00 \$8,316.00 \$40,005.00 \$60,900.00 \$5,000.00 \$775,815.32 \$144,871.12 \$391,904.00 \$15,232.00 \$15,228.00 \$389,020.00	\$84,400.00 \$14,105.00 \$18,700.00 \$5,500.00 \$21,100.00 \$44,800.00 \$138,600.00 \$430.00 \$9.10 \$11.50 \$77.00 \$23,100.00 \$92.00 \$5,000.00 \$10,000.00 \$9.40 \$3.00 \$17.50 \$26.00	\$84,400.00 \$141,050.00 \$18,700.00 \$82,500.00 \$42,200.00 \$44,800.00 \$138,600.00 \$91,000.00 \$7,590.00 \$48,895.00 \$23,100.00 \$3,680.00 \$5,000.00 \$7777,375.00 \$235,000.00 \$311,140.00 \$9,600.00 \$47,250.00 \$689,000.00	\$184,000.00 \$20,000.00 \$11,100.00 \$23,000.00 \$20,000.00 \$15,000.00 \$110,000.00 \$6.00 \$5.00 \$44.00 \$11,000.00 \$66.00 \$5,000.00 \$10,000.00 \$13.00 \$13.00 \$7.00 \$17.00	\$184,000.00 \$200,000.00 \$11,100.00 \$345,000.00 \$40,000.00 \$15,000.00 \$110,000.00 \$3,200.00 \$60,000.00 \$3,300.00 \$27,940.00 \$11,000.00 \$11,000.00 \$10,000.00 \$10,000.00 \$430,300.00 \$16,000.00 \$16,000.00 \$450,500.00	\$78,000.00 \$4,000.00 \$314,000.00 \$20,000.00 \$25,000.00 \$35,000.00 \$34,000.00 \$740.00 \$10.00 \$22,000.00 \$90.00 \$5,000.00 \$10,000.00 \$110,000.00	\$78,000.00 \$40,000.00 \$314,000.00 \$300,000.00 \$50,000.00 \$35,000.00 \$1,480.00 \$100,000.00 \$15,180.00 \$15,875.00 \$22,000.00 \$3,600.00 \$1,000.00 \$1,129,135.00 \$150,000.00 \$150,000.00 \$150,000.00 \$150,000.00 \$150,000.00 \$1728,200.00 \$35,200.00 \$59,400.00
A1 A2 A3 A4 A5 A6 A7 A8 A9 A10 A11 A12 A13 A14 A15 B1 B2 B3 B4 B5 B6	BONDS & INSURANCE CLEAR RIGHT OF WAY TRAFFIC CONTROL MOBILIZATION TEMPORARY TRAFFIC CONTROL TEMPORARY TRAFFIC MESSAGE BOARD TEMPORARY TRAFFIC CONTROL DESIGN BY A PROFESSIONAL ENGINEER SWPPP AND BMPS SURVEY MONUMENT BLOCK SODDING FENCE (IRON/WOOD/CHAINLINK) REMOVAL FENCE (IRON/WOOD/CHAINLINK) REPLACEMENT TEMPORARY INTERSECTION SIGNAL ADJUSTMENTS TRAFFIC CONTROL POLICE OFFICER ASSISTANCE ALLOWANCE FOR UNANTICIPATED ENVIRONMENTAL ISSUES ALLOWANCE FOR UNANTICIPATED GENERAL ACTIVITIES  MOBILIZATION (MAX. 5% OF PART B) STREET EXCAVATION AND EMBANKMENT DEMOLITION OF ASPHALT DRIVEWAY DEMOLITION OF CONCRETE DRIVEWAY LIME STABILIZED AND COMPACTED SUBGRADE (OVERALL 8-INCH THICK REINFORCED CONCRETE PAVEMENT (8-INCH THICK)	AL AC LS MO EA LS EA SY LF LS HR LS AL  LS SY SY SY	1.00 10.00 1.00 15.00 2.00 1.00 1.00 2.00 1.00 2.00 10,000.00 660.00 635.00 1.00 40.00 1.00 1.00 33,100.00 3,200.00 2,700.00 26,500.00	\$106,511.88 \$1,629.97 \$201.94 \$12,075.00 \$19,162.50 \$45,307.50 \$135,541.65 \$202.91 \$10.24 \$12.60 \$63.00 \$60,900.00 \$89.25 \$5,000.00 \$10,000.00	\$106,511.88 \$16,299.70 \$201.94 \$181,125.00 \$38,325.00 \$45,307.50 \$135,541.65 \$405.82 \$102,400.00 \$8,316.00 \$40,005.00 \$60,900.00 \$3,570.00 \$5,000.00 \$10,000.00 \$775,815.32 \$144,871.12 \$391,904.00 \$15,232.00 \$15,228.00 \$389,020.00 \$1,557,405.00	\$84,400.00 \$14,105.00 \$18,700.00 \$5,500.00 \$21,100.00 \$44,800.00 \$138,600.00 \$430.00 \$9.10 \$11.50 \$77.00 \$23,100.00 \$92.00 \$5,000.00 \$10,000.00 \$10,000.00	\$84,400.00 \$141,050.00 \$18,700.00 \$82,500.00 \$42,200.00 \$44,800.00 \$138,600.00 \$860.00 \$91,000.00 \$7,590.00 \$48,895.00 \$23,100.00 \$3,680.00 \$5,000.00 \$7777,375.00 \$235,000.00 \$41,140.00 \$9,600.00 \$47,250.00 \$689,000.00 \$2,915,000.00	\$184,000.00 \$20,000.00 \$11,100.00 \$23,000.00 \$20,000.00 \$15,000.00 \$110,000.00 \$6.00 \$5.00 \$44.00 \$11,000.00 \$66.00 \$5,000.00 \$10,000.00 \$13.00 \$13.00 \$7.00 \$17.00 \$88.00	\$184,000.00 \$200,000.00 \$11,100.00 \$345,000.00 \$40,000.00 \$15,000.00 \$110,000.00 \$3,200.00 \$60,000.00 \$3,300.00 \$27,940.00 \$11,000.00 \$11,000.00 \$10,000.00 \$10,000.00 \$182,000.00 \$16,000.00 \$18,900.00 \$450,500.00 \$2,332,000.00	\$78,000.00 \$4,000.00 \$314,000.00 \$20,000.00 \$25,000.00 \$35,000.00 \$35,000.00 \$740.00 \$10.00 \$22,000.00 \$90.00 \$5,000.00 \$110,000.00 \$110,000.00	\$78,000.00 \$40,000.00 \$314,000.00 \$300,000.00 \$50,000.00 \$35,000.00 \$1,480.00 \$100,000.00 \$15,180.00 \$15,875.00 \$22,000.00 \$3,600.00 \$1,000.00 \$1,129,135.00 \$150,000.00 \$728,200.00 \$35,200.00 \$35,200.00 \$35,200.00 \$22,014,000.00
A1 A2 A3 A4 A5 A6 A7 A8 A9 A10 A11 A12 A13 A14 A15 B1 B2 B3 B4 B5 B6 B7	BONDS & INSURANCE CLEAR RIGHT OF WAY TRAFFIC CONTROL MOBILIZATION TEMPORARY TRAFFIC CONTROL TEMPORARY TRAFFIC MESSAGE BOARD TEMPORARY TRAFFIC CONTROL DESIGN BY A PROFESSIONAL ENGINEER SWPPP AND BMPS SURVEY MONUMENT BLOCK SODDING FENCE (IRON/WOOD/CHAINLINK) REMOVAL FENCE (IRON/WOOD/CHAINLINK) REPLACEMENT TEMPORARY INTERSECTION SIGNAL ADJUSTMENTS TRAFFIC CONTROL POLICE OFFICER ASSISTANCE ALLOWANCE FOR UNANTICIPATED ENVIRONMENTAL ISSUES ALLOWANCE FOR UNANTICIPATED GENERAL ACTIVITIES  MOBILIZATION (MAX. 5% OF PART B) STREET EXCAVATION AND EMBANKMENT DEMOLITION OF ASPHALT DRIVEWAY DEMOLITION OF CONCRETE DRIVEWAY LIME STABILIZED AND COMPACTED SUBGRADE (OVERALL 8-INCH THICK REINFORCED CONCRETE DRIVEWAY (6-INCH THICK)	AL AC LS MO EA LS EA SY LF LS HR LS AL  LS SY SY SY SY SF	1.00 10.00 1.00 15.00 2.00 1.00 1.00 2.00 1.00 2.00 10,000.00 660.00 635.00 1.00 40.00 1.00 1.00 33,100.00 3,200.00 2,700.00 26,500.00 23,400.00	\$106,511.88 \$1,629.97 \$201.94 \$12,075.00 \$19,162.50 \$45,307.50 \$135,541.65 \$202.91 \$10.24 \$12.60 \$63.00 \$60,900.00 \$89.25 \$5,000.00 \$10,000.00 \$11,000.00	\$106,511.88 \$16,299.70 \$201.94 \$181,125.00 \$38,325.00 \$45,307.50 \$135,541.65 \$405.82 \$102,400.00 \$8,316.00 \$40,005.00 \$60,900.00 \$3,570.00 \$5,000.00 \$775,815.32 \$144,871.12 \$391,904.00 \$15,232.00 \$15,232.00 \$389,020.00 \$1,557,405.00 \$340,002.00	\$84,400.00 \$14,105.00 \$18,700.00 \$5,500.00 \$21,100.00 \$44,800.00 \$138,600.00 \$430.00 \$9.10 \$11.50 \$77.00 \$23,100.00 \$92.00 \$5,000.00 \$10,000.00 \$10,000.00 \$110,000.00	\$84,400.00 \$141,050.00 \$18,700.00 \$82,500.00 \$42,200.00 \$44,800.00 \$138,600.00 \$91,000.00 \$7,590.00 \$48,895.00 \$23,100.00 \$3,680.00 \$5,000.00 \$7777,375.00 \$235,000.00 \$41,140.00 \$9,600.00 \$47,250.00 \$689,000.00 \$291,5000.00 \$292,500.00	\$184,000.00 \$20,000.00 \$11,100.00 \$23,000.00 \$20,000.00 \$15,000.00 \$110,000.00 \$6.00 \$5.00 \$44.00 \$11,000.00 \$66.00 \$5,000.00 \$10,000.00 \$13.00 \$13.00 \$13.00 \$13.00 \$13.00 \$13.00	\$184,000.00 \$200,000.00 \$11,100.00 \$345,000.00 \$40,000.00 \$15,000.00 \$110,000.00 \$3,200.00 \$60,000.00 \$3,300.00 \$27,940.00 \$11,000.00 \$11,000.00 \$10,000.00 \$10,000.00 \$16,000.00 \$16,000.00 \$18,900.00 \$450,500.00 \$2,332,000.00 \$3,300.00 \$10,000.00	\$78,000.00 \$4,000.00 \$314,000.00 \$20,000.00 \$25,000.00 \$35,000.00 \$35,000.00 \$740.00 \$10.00 \$22,000 \$22,000.00 \$90.00 \$5,000.00 \$10,000.00 \$11,000.00 \$11.00 \$22.00 \$11.00 \$22.00 \$11.00 \$22.00 \$11.00 \$21.00 \$11.00 \$22.00 \$11.00 \$22.00 \$11.00 \$22.00 \$11.00 \$22.00 \$11.00	\$78,000.00 \$40,000.00 \$314,000.00 \$300,000.00 \$50,000.00 \$35,000.00 \$1,480.00 \$100,000.00 \$15,180.00 \$15,875.00 \$22,000.00 \$3,600.00 \$1,000.00 \$1,129,135.00 \$150,000.00 \$728,200.00 \$35,200.00 \$35,200.00 \$35,200.00 \$22,014,000.00 \$327,600.00
A1 A2 A3 A4 A5 A6 A7 A8 A9 A10 A11 A12 A13 A14 A15 B1 B2 B3 B4 B5 B6 B7 B8	BONDS & INSURANCE CLEAR RIGHT OF WAY TRAFFIC CONTROL MOBILIZATION TEMPORARY TRAFFIC CONTROL TEMPORARY TRAFFIC MESSAGE BOARD TEMPORARY TRAFFIC CONTROL DESIGN BY A PROFESSIONAL ENGINEER SWPPP AND BMPS SURVEY MONUMENT BLOCK SODDING FENCE (IRON/WOOD/CHAINLINK) REMOVAL FENCE (IRON/WOOD/CHAINLINK) REPLACEMENT TEMPORARY INTERSECTION SIGNAL ADJUSTMENTS TRAFFIC CONTROL POLICE OFFICER ASSISTANCE ALLOWANCE FOR UNANTICIPATED ENVIRONMENTAL ISSUES ALLOWANCE FOR UNANTICIPATED GENERAL ACTIVITIES  MOBILIZATION (MAX. 5% OF PART B) STREET EXCAVATION AND EMBANKMENT DEMOLITION OF ASPHALT DRIVEWAY DEMOLITION OF CONCRETE DRIVEWAY LIME STABILIZED AND COMPACTED SUBGRADE (OVERALL 8-INCH THICK REINFORCED CONCRETE DRIVEWAY (6-INCH THICK) REINFORCED CONCRETE DRIVEWAY (6-INCH THICK) REFL PAV MRK 6-INCH BROKEN YELLOW	AL AC LS MO EA LS EA SY LF LS HR LS AL  LS SY SY SY SY SF LF	1.00 10.00 1.00 1.00 1.00 1.00 2.00 1.00 2.00 10,000.00 660.00 635.00 1.00 40.00 1.00 1.00 33,100.00 3,200.00 2,700.00 26,500.00 23,400.00 1,760.00	\$106,511.88 \$1,629.97 \$201.94 \$12,075.00 \$19,162.50 \$45,307.50 \$135,541.65 \$202.91 \$10.24 \$12.60 \$63.00 \$60,900.00 \$89.25 \$5,000.00 \$10,000.00 \$11,000.00 \$11,000.00	\$106,511.88 \$16,299.70 \$201.94 \$181,125.00 \$38,325.00 \$45,307.50 \$135,541.65 \$405.82 \$102,400.00 \$8,316.00 \$40,005.00 \$60,900.00 \$3,570.00 \$5,000.00 \$775,815.32 \$144,871.12 \$391,904.00 \$15,232.00 \$15,232.00 \$389,020.00 \$1,557,405.00 \$340,002.00 \$2,305.60	\$84,400.00 \$14,105.00 \$18,700.00 \$5,500.00 \$21,100.00 \$44,800.00 \$138,600.00 \$430.00 \$9.10 \$11.50 \$77.00 \$23,100.00 \$92.00 \$5,000.00 \$10,000.00 \$10,000.00 \$110,000.00	\$84,400.00 \$141,050.00 \$18,700.00 \$82,500.00 \$42,200.00 \$44,800.00 \$138,600.00 \$860.00 \$91,000.00 \$7,590.00 \$48,895.00 \$23,100.00 \$3,680.00 \$5,000.00 \$7,7375.00 \$235,000.00 \$311,140.00 \$9,600.00 \$47,250.00 \$689,000.00 \$2915,000.00 \$3,432.00	\$184,000.00 \$20,000.00 \$11,100.00 \$23,000.00 \$20,000.00 \$15,000.00 \$110,000.00 \$6.00 \$5.00 \$44.00 \$11,000.00 \$66.00 \$5,000.00 \$110,000.00 \$110,000.00 \$110,000.00 \$110,000.00 \$110,000.00 \$110,000.00 \$110,000.00 \$110,000.00 \$110,000.00 \$110,000.00 \$110,000.00 \$110,000.00 \$110,000.00 \$110,000.00 \$110,000.00	\$184,000.00 \$200,000.00 \$11,100.00 \$345,000.00 \$40,000.00 \$15,000.00 \$110,000.00 \$3,200.00 \$60,000.00 \$3,300.00 \$27,940.00 \$11,000.00 \$11,000.00 \$10,000.00 \$10,000.00 \$182,000.00 \$16,000.00 \$16,000.00 \$18,900.00 \$450,500.00 \$2,332,000.00 \$304,200.00 \$2,640.00	\$78,000.00 \$4,000.00 \$314,000.00 \$20,000.00 \$25,000.00 \$35,000.00 \$34,000.00 \$740.00 \$10.00 \$22,000.00 \$90.00 \$5,000.00 \$10,000.00 \$11,000.00 \$11,000.00 \$11,000.00 \$22.00 \$11,00 \$22.00 \$11,000.00 \$11,000.00 \$22.00 \$11,000.00 \$22.00 \$11,000.00 \$22.00 \$11,000.00	\$78,000.00 \$40,000.00 \$314,000.00 \$300,000.00 \$50,000.00 \$35,000.00 \$1,480.00 \$100,000.00 \$15,180.00 \$15,875.00 \$22,000.00 \$3,600.00 \$5,000.00 \$10,000.00 \$1,129,135.00 \$15,200.00 \$728,200.00 \$35,200.00 \$35,200.00 \$37,000.00 \$2,014,000.00 \$327,600.00 \$35,200.00 \$327,600.00 \$35,200.00
A1 A2 A3 A4 A5 A6 A7 A8 A9 A10 A11 A12 A13 A14 A15 A16 Sub Totals  PART B - STREET IMPROVEMENTS B1 B2 B3 B4 B5 B6 B7 B8 B9	BONDS & INSURANCE CLEAR RIGHT OF WAY TRAFFIC CONTROL MOBILIZATION TEMPORARY TRAFFIC CONTROL TEMPORARY TRAFFIC MESSAGE BOARD TEMPORARY TRAFFIC CONTROL DESIGN BY A PROFESSIONAL ENGINEER SWPPP AND BMPS SURVEY MONUMENT BLOCK SODDING FENCE (IRON/WOOD/CHAINLINK) REMOVAL FENCE (IRON/WOOD/CHAINLINK) REPLACEMENT TEMPORARY INTERSECTION SIGNAL ADJUSTMENTS TRAFFIC CONTROL POLICE OFFICER ASSISTANCE ALLOWANCE FOR UNANTICIPATED ENVIRONMENTAL ISSUES ALLOWANCE FOR UNANTICIPATED GENERAL ACTIVITIES  MOBILIZATION (MAX. 5% OF PART B) STREET EXCAVATION AND EMBANKMENT DEMOLITION OF ASPHALT DRIVEWAY DEMOLITION OF CONCRETE DRIVEWAY LIME STABILIZED AND COMPACTED SUBGRADE (OVERALL 8-INCH THICK REINFORCED CONCRETE PAVEMENT (8-INCH THICK) REINFORCED CONCRETE DRIVEWAY (6-INCH THICK) REFL PAV MRK 6-INCH BROKEN YELLOW REFL PAV MRK 6-INCH BROKEN YELLOW	AL AC LS MO EA LS EA SY LF LS HR LS AL  LS SY SY SY SY SY SF LF LF LF	1.00 10.00 1.00 1.00 15.00 2.00 1.00 1.00 2.00 10,000.00 660.00 635.00 1.00 40.00 1.00 1.00 33,100.00 3,200.00 2,700.00 26,500.00 23,400.00 1,760.00 410.00	\$106,511.88 \$1,629.97 \$201.94 \$12,075.00 \$19,162.50 \$45,307.50 \$135,541.65 \$202.91 \$10.24 \$12.60 \$63.00 \$60,900.00 \$89.25 \$5,000.00 \$10,000.00 \$11,000.00 \$11,000.00	\$106,511.88 \$16,299.70 \$201.94 \$181,125.00 \$38,325.00 \$45,307.50 \$135,541.65 \$405.82 \$102,400.00 \$8,316.00 \$40,005.00 \$60,900.00 \$3,570.00 \$5,000.00 \$775,815.32 \$144,871.12 \$391,904.00 \$15,232.00 \$15,232.00 \$15,228.00 \$389,020.00 \$1,557,405.00 \$340,002.00 \$2,305.60 \$537.10	\$84,400.00 \$14,105.00 \$18,700.00 \$5,500.00 \$21,100.00 \$44,800.00 \$138,600.00 \$430.00 \$9.10 \$11.50 \$77.00 \$23,100.00 \$92.00 \$5,000.00 \$10,000.00 \$10,000.00 \$110,000.00	\$84,400.00 \$141,050.00 \$18,700.00 \$82,500.00 \$42,200.00 \$44,800.00 \$138,600.00 \$860.00 \$91,000.00 \$7,590.00 \$48,895.00 \$23,100.00 \$3,680.00 \$5,000.00 \$10,000.00 \$7777,375.00 \$235,000.00 \$311,140.00 \$9,600.00 \$47,250.00 \$689,000.00 \$2915,000.00 \$292,500.00 \$3,432.00 \$799.50	\$184,000.00 \$20,000.00 \$11,100.00 \$23,000.00 \$20,000.00 \$15,000.00 \$110,000.00 \$1,600.00 \$44.00 \$11,000.00 \$66.00 \$5,000.00 \$110,000.00 \$110,000.00 \$110,000.00	\$184,000.00 \$200,000.00 \$11,100.00 \$345,000.00 \$40,000.00 \$15,000.00 \$110,000.00 \$3,200.00 \$60,000.00 \$3,300.00 \$27,940.00 \$11,000.00 \$11,000.00 \$10,000.00 \$10,000.00 \$18,000.00 \$16,000.00 \$450,500.00 \$450,500.00 \$2,332,000.00 \$2,640.00 \$615.00	\$78,000.00 \$4,000.00 \$314,000.00 \$20,000.00 \$25,000.00 \$35,000.00 \$35,000.00 \$740.00 \$10.00 \$22,000 \$22,000.00 \$90.00 \$5,000.00 \$10,000.00 \$11.00 \$22.00 \$11.00 \$22.00 \$11.00 \$22.00 \$11.00 \$22.00 \$11.00 \$22.00 \$11.00 \$22.00 \$11.00 \$22.00 \$11.00 \$22.00 \$11.00 \$22.00 \$11.00 \$22.00 \$11.00 \$22.00	\$78,000.00 \$40,000.00 \$314,000.00 \$300,000.00 \$50,000.00 \$35,000.00 \$35,000.00 \$1,480.00 \$100,000.00 \$15,180.00 \$15,875.00 \$22,000.00 \$3,600.00 \$5,000.00 \$1,129,135.00  \$150,000.00 \$728,200.00 \$35,200.00 \$59,400.00 \$477,000.00 \$2,014,000.00 \$327,600.00 \$35,200.00 \$35,200.00 \$35,200.00 \$427,000.00 \$2,014,000.00 \$327,600.00 \$35,200.00 \$820.00
A1 A2 A3 A4 A5 A6 A7 A8 A9 A10 A11 A12 A13 A14 A15 B1 Sub Totals  PART B - STREET IMPROVEMENTS B1 B2 B3 B4 B5 B6 B7 B8	BONDS & INSURANCE CLEAR RIGHT OF WAY TRAFFIC CONTROL MOBILIZATION TEMPORARY TRAFFIC CONTROL TEMPORARY TRAFFIC MESSAGE BOARD TEMPORARY TRAFFIC CONTROL DESIGN BY A PROFESSIONAL ENGINEER SWPPP AND BMPS SURVEY MONUMENT BLOCK SODDING FENCE (IRON/WOOD/CHAINLINK) REMOVAL FENCE (IRON/WOOD/CHAINLINK) REPLACEMENT TEMPORARY INTERSECTION SIGNAL ADJUSTMENTS TRAFFIC CONTROL POLICE OFFICER ASSISTANCE ALLOWANCE FOR UNANTICIPATED ENVIRONMENTAL ISSUES ALLOWANCE FOR UNANTICIPATED GENERAL ACTIVITIES  MOBILIZATION (MAX. 5% OF PART B) STREET EXCAVATION AND EMBANKMENT DEMOLITION OF ASPHALT DRIVEWAY DEMOLITION OF CONCRETE DRIVEWAY LIME STABILIZED AND COMPACTED SUBGRADE (OVERALL 8-INCH THICK REINFORCED CONCRETE DRIVEWAY (6-INCH THICK) REINFORCED CONCRETE DRIVEWAY (6-INCH THICK) REFL PAV MRK 6-INCH BROKEN YELLOW	AL AC LS MO EA LS EA SY LF LS HR LS AL  LS SY SY SY SY SF LF	1.00 10.00 1.00 1.00 1.00 1.00 2.00 1.00 2.00 10,000.00 660.00 635.00 1.00 40.00 1.00 1.00 33,100.00 3,200.00 2,700.00 26,500.00 23,400.00 1,760.00	\$106,511.88 \$1,629.97 \$201.94 \$12,075.00 \$19,162.50 \$45,307.50 \$135,541.65 \$202.91 \$10.24 \$12.60 \$63.00 \$60,900.00 \$89.25 \$5,000.00 \$10,000.00 \$11,000.00 \$11,000.00	\$106,511.88 \$16,299.70 \$201.94 \$181,125.00 \$38,325.00 \$45,307.50 \$135,541.65 \$405.82 \$102,400.00 \$8,316.00 \$40,005.00 \$60,900.00 \$3,570.00 \$5,000.00 \$775,815.32 \$144,871.12 \$391,904.00 \$15,232.00 \$15,232.00 \$389,020.00 \$1,557,405.00 \$340,002.00 \$2,305.60	\$84,400.00 \$14,105.00 \$18,700.00 \$5,500.00 \$21,100.00 \$44,800.00 \$138,600.00 \$430.00 \$9.10 \$11.50 \$77.00 \$23,100.00 \$92.00 \$5,000.00 \$10,000.00 \$10,000.00 \$110,000.00	\$84,400.00 \$141,050.00 \$18,700.00 \$82,500.00 \$42,200.00 \$44,800.00 \$138,600.00 \$860.00 \$91,000.00 \$7,590.00 \$48,895.00 \$23,100.00 \$3,680.00 \$5,000.00 \$7,7375.00 \$235,000.00 \$311,140.00 \$9,600.00 \$47,250.00 \$689,000.00 \$2915,000.00 \$3,432.00	\$184,000.00 \$20,000.00 \$11,100.00 \$23,000.00 \$20,000.00 \$15,000.00 \$110,000.00 \$6.00 \$5.00 \$44.00 \$11,000.00 \$66.00 \$5,000.00 \$110,000.00 \$110,000.00 \$110,000.00 \$110,000.00 \$110,000.00 \$110,000.00 \$110,000.00 \$110,000.00 \$110,000.00 \$110,000.00 \$110,000.00 \$110,000.00 \$110,000.00 \$110,000.00 \$110,000.00	\$184,000.00 \$200,000.00 \$11,100.00 \$345,000.00 \$40,000.00 \$15,000.00 \$110,000.00 \$3,200.00 \$60,000.00 \$3,300.00 \$27,940.00 \$11,000.00 \$11,000.00 \$10,000.00 \$10,000.00 \$182,000.00 \$16,000.00 \$16,000.00 \$18,900.00 \$450,500.00 \$2,332,000.00 \$304,200.00 \$2,640.00	\$78,000.00 \$4,000.00 \$314,000.00 \$20,000.00 \$25,000.00 \$35,000.00 \$34,000.00 \$740.00 \$10.00 \$22,000.00 \$90.00 \$5,000.00 \$10,000.00 \$11,000.00 \$11,000.00 \$11,000.00 \$22.00 \$11,00 \$22.00 \$11,000.00 \$11,000.00 \$22.00 \$11,000.00 \$22.00 \$11,000.00 \$22.00 \$11,000.00	\$78,000.00 \$40,000.00 \$314,000.00 \$300,000.00 \$50,000.00 \$35,000.00 \$1,480.00 \$100,000.00 \$15,180.00 \$15,875.00 \$22,000.00 \$3,600.00 \$5,000.00 \$10,000.00 \$1,129,135.00 \$15,200.00 \$728,200.00 \$35,200.00 \$35,200.00 \$37,000.00 \$2,014,000.00 \$327,600.00 \$35,200.00 \$327,600.00 \$35,200.00

Mail											
PAISON   PAISON AND MATCH LAW MORE LAW OR CALLET WITH PAISON   25 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 3	. ,	\$18.00	\$17,000.00	\$17.00	\$25,000.00	\$25.00	\$16,220.00	\$16.22	1,000.00		,
Description	. ,	\$10.00	•	•			·				
15   15   15   15   15   15   15   15	. ,	\$990.00 \$77.00									
	. ,	·		·						LA	
MORE PRINTING NUMBER SERVICE PRINTED   10   110   115   150   15	\$150,000.00 \$4,011,019.00	\$150,000.00		\$150,000.00		\$150,000.00		\$150,000.00	1.00	AL	
Column	ψ+,011,019.00		ψ3,947,303.00		ψ+,129,130.30		ψ5,075,005.32				ub rotats
Column   C											PART C - ADA IMPROVEMENTS
C1	\$30,000.00	\$30,000.00	\$25,000.00	\$25,000.00	\$30,000.00	\$30,000.00	\$18,750.00	\$18,750.00	1.00	LS	MOBILIZATION (MAX. 5% OF PART C)
Column   C	\$54,200.00	\$2.00	\$16,260.00	\$0.60	\$56,910.00	\$2.10	\$10,027.00	\$0.37		٠.	DEMOLITION OF CONCRETE SIDEWALK
See   Prince   Prin	. ,	\$9.00		·		·		•		SF	, , ,
Section   Sect	\$83,750.00	\$25.00		\$30.00				\$27.02	3,350.00	SF	
No.		\$20,000.00		\$20,000.00		\$20,000.00		\$20,000.00	1.00	AL	
DECOMPOSITION   MORE ACTION   MANUAL PROPERTY   US   1.00   \$10,000   \$10,	\$688,800.00		\$606,960.00		\$627,110.00		\$527,174.50				ub lotais
DECOMPOSITION   MORE ACTION   MANUAL PROPERTY   US   1.00   \$10,000   \$10,											PART D - STORM WATER IMPROVEMENTS
Color   Colo	\$195,000.00	\$195,000.00	\$310,000.00	\$310,000.00	\$340,000.00	\$340,000.00	\$254,555.83	\$254,555.83	1.00	I.S.	
P.   P.   P.   P.   P.   P.   P.   P.	\$50,400.00	\$7.00	\$18,000.00	\$2.50	\$41,040.00	\$5.70	\$36,648.00	\$5.09	7,200.00		CURB AND GUTTER DEMOLITION
Dec	\$218,300.00	\$37.00	\$47,200.00	\$8.00	\$100,300.00	\$17.00	\$64,487.00	\$10.93	5,900.00	LF	D3 REMOVAL OF EXISTING STORMWATER PIPE (0-48")
Decomposition   Cale River (of Tricoat)	\$176,880.00	\$44.00	\$80,400.00	\$20.00	\$96,480.00	\$24.00	\$46,270.20	\$11.51	4,020.00	LF	PAREMOVAL OF EXISTING STORMWATER PIPE (48"+)
Potential   Pote	\$145,000.00	\$5,800.00	\$150,000.00	\$6,000.00	\$175,000.00	\$7,000.00	\$143,364.50	\$5,734.58	25.00	EA	5' CURB INLET
Dec	\$258,100.00	\$8,900.00	\$261,000.00	\$9,000.00	\$281,300.00	\$9,700.00	\$223,589.42	\$7,709.98	29.00	EA	5' CURB INLET (10' THROAT)
DP	\$53,500.00	\$10,700.00	\$65,000.00	\$13,000.00	\$62,000.00	\$12,400.00	\$49,611.35	\$9,922.27	5.00	EA	5' CURB INLET (15' THROAT)
D10   GRATE INLET (X 2 (TNDOT)	\$9,700.00	\$9,700.00	\$8,200.00	\$8,200.00	\$9,800.00	\$9,800.00	\$10,270.98	\$10,270.98	1.00	EA	10' CURB INLET
Page	\$40,400.00	\$20,200.00	\$52,000.00	\$26,000.00	\$32,000.00	\$16,000.00	\$22,744.12	\$11,372.06	2.00	EA	,
D12   SIDEWALK DRAN	\$6,900.00	\$6,900.00	. ,	\$9,000.00					1.00	EA	
D13   MODIFY JUNCTION BOX (TXODT)	\$16,000.00	\$8,000.00	\$20,000.00	\$10,000.00	\$12,200.00	\$6,100.00	\$12,878.38	\$6,439.19	2.00	EA	GRATE INLET (4' X 4') (TXDOT)
D14   MANHOLE RISER STRUCTURE		\$7,000.00		• ,		. ,				EA	
Dif	\$37,600.00	\$9,400.00							4.00	EA	,
DIF   TYPE D MANHOLL = 7XF JUNCTION BOX	\$330,000.00	\$10,000.00				• •		• •		EA	
D17	\$21,000.00	\$21,000.00								EA	,
D18	\$30,900.00	\$10,300.00								EA	
D19	\$39,000.00	\$13,000.00			. ,	• •		• •		EA	
D20	\$31,400.00	\$15,700.00	. ,								
D21 TYPE A MANHOLE - 5'DIA EA 2.00 \$4.175.15 \$8,350.30 \$9,300.0 \$18,600.00 \$7,400.00 \$14,800.00 \$10,300.00 \$20.00 \$13,000.00 \$20.00 \$166,100.00 \$20.00 \$166,100.00 \$20.00 \$166,100.00 \$20.00 \$166,100.00 \$20.00 \$166,100.00 \$20.00 \$166,100.00 \$20.00 \$166,100.00 \$20.00 \$166,100.00 \$20.00 \$166,100.00 \$20.00 \$166,100.00 \$20.00 \$166,100.00 \$20.00 \$166,100.00 \$20.00 \$166,100.00 \$20.00 \$166,100.00 \$20.00 \$166,100.00 \$20.00 \$166,100.00 \$20.00 \$166,100.00 \$20.00 \$166,100.00 \$20.00 \$20.00 \$166,100.00 \$20.00 \$20.00 \$166,100.00 \$20.00 \$	\$96,000.00	\$16,000.00	. ,								
D22   18" RCP (CLASS III)	\$148,200.00	\$24,700.00			. ,						
D23		\$10,300.00									
D24   30" RCP (CLASS III)   LF   60.00   \$171.36   \$10,281.60   \$310.00   \$18,600.00   \$260.00   \$15,600.00   \$27.00   \$25.00	. ,	\$261.00						·		LI	,
D25         36" RCP (CLASS III)         LF         460.00         \$209.25         \$96.255.00         \$280.00         \$128,800.00         \$250.00         \$115,000.00         \$21           D26         46" RCP (CLASS III)         LF         20.00         \$359.41         \$71,88.20         \$490.00         \$9,800.00         \$480.00         \$9,780.00         \$48           D27         3Y3'S REINFORCED CONCRETE BOX         LF         240.00         \$322.00         \$77,280.00         \$410.00         \$98,400.00         \$480.00         \$98,400.00         \$98,400.00         \$98,400.00         \$98,400.00         \$480.00         \$98,400.00         \$480.00         \$98,400.00         \$480.00         \$98,400.00         \$480.00         \$98,400.00         \$480.00         \$98,400.00         \$480.00         \$880.00         \$98,400.00         \$480.00         \$840.00         \$98,400.00         \$480.00         \$840.00         \$98,400.00         \$480.00         \$480.00         \$98,400.00         \$98,400.00         \$98,400.00         \$98,400.00         \$98,400.00         \$98,400.00         \$98,400.00         \$98,400.00         \$98,400.00         \$98,400.00         \$98,400.00         \$98,400.00         \$98,400.00         \$98,400.00         \$98,400.00         \$98,400.00         \$98,400.00         \$98,400.00         \$98,400.00		\$277.00								LF	·
D26   48" RCP (CLASS III)   LF   20.00   \$359.41   \$7,188.20   \$490.00   \$9,800.00   \$489.00   \$9,780.00   \$480.00   \$9,800.00   \$480.00		\$274.00								LF	
D27 3X3' REINFORCED CONCRETE BOX	. ,	\$219.00 \$484.00								LF	
D28         4X3' REINFORCED CONCRETE BOX         LF         375.00         \$358.94         \$134,602.50         \$450.00         \$168,750.00         \$480.00         \$180,000.00         \$46           D29         4'X4' REINFORCED CONCRETE BOX         LF         745.00         \$395.92         \$294,960.40         \$460.00         \$342,700.00         \$520.00         \$387,400.00         \$49           D30         5'X3' REINFORCED CONCRETE BOX         LF         340.00         \$437.58         \$148,777.20         \$530.00         \$180,200.00         \$560.00         \$190,400.00         \$55           D31         5'X4' REINFORCED CONCRETE BOX         LF         1,120.00         \$468.74         \$524,988.80         \$540.00         \$604,800.00         \$600,000         \$660,000         \$180,400.00         \$65           D32         5'X5' REINFORCED CONCRETE BOX         LF         1,850.00         \$511.74         \$924,961.90         \$570.00         \$105,450.00         \$604.00         \$118,400.00         \$65           D33         6'X4' REINFORCED CONCRETE BOX         LF         1,475.00         \$572.26         \$1,153,103.90         \$650.00         \$13,09,750.00         \$1410,500.00         \$65           D34         6'X5' REINFORCED CONCRETE BOX         LF         1,475.00         \$682.85		\$377.00								LF	
D29         4'X4' REINFORCED CONCRETE BOX         LF         745.00         \$395.92         \$294,960.40         \$460.00         \$342,700.00         \$387,400.00         \$49           D30         5'X3' REINFORCED CONCRETE BOX         LF         340.00         \$437.58         \$148,777.20         \$530.00         \$180,200.00         \$560.00         \$190,400.00         \$55           D31         5'X4' REINFORCED CONCRETE BOX         LF         1,120.00         \$468.74         \$524,988.80         \$540.00         \$604,800.00         \$590.00         \$660,800.00         \$59           D32         5'X5' REINFORCED CONCRETE BOX         LF         185.00         \$511.74         \$94,671.90         \$570.00         \$105,450.00         \$118,400.00         \$65           D33         6'X4' REINFORCED CONCRETE BOX         LF         2,015.00         \$572.26         \$1,153,103.90         \$650.00         \$1,309,750.00         \$118,400.00         \$69           D34         6'X5' REINFORCED CONCRETE BOX         LF         1,475.00         \$628.54         \$927,096.50         \$650.00         \$958,750.00         \$750.00         \$1,106,250.00         \$73           D35         6'X6' REINFORCED CONCRETE BOX         LF         40.00         \$688.65         \$27,546.00         \$730.00         \$29,200.00 <td>. ,</td> <td>\$469.00</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>	. ,	\$469.00									
D30         5'X3' REINFORCED CONCRETE BOX         LF         340.00         \$437.58         \$148,777.20         \$530.00         \$180,200.00         \$560.00         \$190,400.00         \$55           D31         5'X4' REINFORCED CONCRETE BOX         LF         1,120.00         \$468.74         \$524,988.80         \$540.00         \$604,800.00         \$590.00         \$660,800.00         \$59           D32         5'X5' REINFORCED CONCRETE BOX         LF         185.00         \$511.74         \$94,671.90         \$570.00         \$105,450.00         \$640.00         \$118,400.00         \$65           D33         6'X4' REINFORCED CONCRETE BOX         LF         2,015.00         \$572.26         \$1,153,103.90         \$650.00         \$1,309,750.00         \$1,410,500.00         \$69           D34         6'X5' REINFORCED CONCRETE BOX         LF         1,475.00         \$628.54         \$927,096.50         \$650.00         \$958,750.00         \$750.00         \$1,106,250.00         \$73           D35         6'X6' REINFORCED CONCRETE BOX         LF         40.00         \$688.65         \$27,546.00         \$730.00         \$29,200.00         \$560.00         \$22,400.00         \$22,400.00         \$22,000.00         \$260.00         \$260.00         \$3,30           D37         6'X4' REINFORCED CONCRETE		\$498.00									
D31         5'X4' REINFORCED CONCRETE BOX         LF         1,120.00         \$468.74         \$524,988.80         \$540.00         \$604,800.00         \$590.00         \$660,800.00         \$590.00         \$590.00         \$660,800.00         \$590.00		\$559.00									
D32         5'X5' REINFORCED CONCRETE BOX         LF         185.00         \$511.74         \$94,671.90         \$570.00         \$105,450.00         \$118,400.00         \$65           D33         6'X4' REINFORCED CONCRETE BOX         LF         2,015.00         \$572.26         \$1,153,103.90         \$650.00         \$1,309,750.00         \$1,410,500.00         \$69           D34         6'X5' REINFORCED CONCRETE BOX         LF         1,475.00         \$628.54         \$927,096.50         \$650.00         \$958,750.00         \$1,106,250.00         \$73           D35         6'X6' REINFORCED CONCRETE BOX         LF         40.00         \$688.65         \$27,546.00         \$730.00         \$29,200.00         \$560.00         \$22,400.00         \$82           D36         24" RCP 30° BENDS         EA         1.00         \$1,492.01         \$1,492.01         \$2,000.00         \$2,000.00         \$260.00         \$3,600.00         \$3,300.00         \$3,700.00         \$3,700.00         \$14,900.00         \$14,900.00         \$3,610.46         \$3,610.46         \$3,610.46         \$3,610.46         \$3,610.46         \$5,300.00         \$5,300.00         \$3,700.00         \$3,700.00         \$14,900.00         \$14,900.00         \$14,900.00         \$14,900.00         \$14,900.00         \$14,900.00         \$14,900.00         \$		\$598.00									
D33         6'X4' REINFORCED CONCRETE BOX         LF         2,015.00         \$572.26         \$1,153,103.90         \$650.00         \$1,309,750.00         \$700.00         \$1,410,500.00         \$69           D34         6'X5' REINFORCED CONCRETE BOX         LF         1,475.00         \$628.54         \$927,096.50         \$650.00         \$958,750.00         \$1,106,250.00         \$73           D35         6'X6' REINFORCED CONCRETE BOX         LF         40.00         \$688.65         \$27,546.00         \$730.00         \$29,200.00         \$560.00         \$22,400.00         \$82           D36         24" RCP 30° BENDS         EA         1.00         \$1,492.01         \$1,492.01         \$2,000.00         \$2,000.00         \$260.00         \$33,00           D37         6'X4' REINFORCED CONCRETE BOX 15° BENDS         EA         1.00         \$3,610.46         \$3,610.46         \$5,300.00         \$3,700.00         \$3,700.00         \$14,90		\$653.00									
D34         6'X5' REINFORCED CONCRETE BOX         LF         1,475.00         \$628.54         \$927,096.50         \$650.00         \$958,750.00         \$1,106,250.00         \$73           D35         6'X6' REINFORCED CONCRETE BOX         LF         40.00         \$688.65         \$27,546.00         \$730.00         \$29,200.00         \$560.00         \$22,400.00         \$82           D36         24" RCP 30° BENDS         EA         1.00         \$1,492.01         \$1,492.01         \$2,000.00         \$2,000.00         \$260.00         \$3,300           D37         6'X4' REINFORCED CONCRETE BOX 15° BENDS         EA         1.00         \$3,610.46         \$3,610.46         \$5,300.00         \$5,300.00         \$3,700.00         \$3,700.00         \$14,900		\$693.00									
D35         6'X6' REINFORCED CONCRETE BOX         LF         40.00         \$688.65         \$27,546.00         \$730.00         \$29,200.00         \$560.00         \$22,400.00         \$82           D36         24" RCP 30° BENDS         EA         1.00         \$1,492.01         \$1,492.01         \$2,000.00         \$260.00         \$260.00         \$3,300           D37         6'X4' REINFORCED CONCRETE BOX 15° BENDS         EA         1.00         \$3,610.46         \$5,300.00         \$5,300.00         \$3,700.00         \$14,900		\$732.00									
D36 24" RCP 30° BENDS EA 1.00 \$1,492.01 \$1,492.01 \$2,000.00 \$2,000.00 \$260.00 \$3,30 D37 EA 1.00 \$3,610.46 \$3,610.46 \$5,300.00 \$5,300.00 \$3,700.00 \$14,90 C5		\$827.00								I F	
D37 6'X4' REINFORCED CONCRETE BOX 15° BENDS EA 1.00 \$3,610.46 \$5,300.00 \$5,300.00 \$3,700.00 \$14,900		\$3,300.00								FΔ	
FIVE DELICATION AS	\$14,900.00	\$14,900.00	\$3,700.00	\$3,700.00	\$5,300.00		\$3,610.46		1.00		037 6'X4' REINFORCED CONCRETE BOX 15° BENDS
	\$12,900.00	\$12,900.00								EA	
	\$29,800.00	\$14,900.00	\$8,400.00	\$4,200.00	\$10,600.00	\$5,300.00	\$7,215.06	\$3,607.53	2.00		)39 6'X4' REINFORCED CONCRETE BOX 30° BENDS
	\$393,660.00	\$27.00	\$102,060.00	\$7.00	\$466,560.00	\$32.00	\$602,445.60	\$41.32	14,580.00		040 REINFORCED CONCRETE CURB AND GUTTER (6-INCH) (INCLUDES BASE,
D41 RIPRAP (12") (TXDOT ITEM 432) \$164.14 \$9,027.70 \$92.00 \$5,060.00 \$190.00 \$10,450.00 \$25	\$13,750.00	\$250.00	\$10,450.00	\$190.00	\$5,060.00	\$92.00	\$9,027.70	\$164.14	55.00	SY	041 RIPRAP (12") (TXDOT ITEM 432)
	\$25,455.00	\$3.00	\$59,395.00	\$7.00	\$16,545.75	\$1.95	\$30,461.15	\$3.59	8,485.00		D42 TRENCH SAFETY
D43 ALLOWANCE FOR UNANTICIPATED STORM WATER IMPROVEMENTS AL 1.00 \$230,000.00 \$230,000.00 \$230,000.00 \$230,000.00 \$230,000.00 \$230,000.00 \$230,000.00 \$230,000.00	\$230,000.00	\$230,000.00	\$230,000.00	\$230,000.00	\$230,000.00	\$230,000.00	\$230,000.00	\$230,000.00	1.00	AL	243 ALLOWANCE FOR UNANTICIPATED STORM WATER IMPROVEMENTS
\$5,946,256.57       \$6,860,785.75       \$6,947,695.00	\$7,345,760.00		\$6,947,695.00		\$6,860,785.75		\$5,946,256.57				oub Totals

PART E - WATER IMPROVEMENTS											
E1	MOBILIZATION (MAX. 5% OF PART E)	LS	1.00	\$42,698.57	\$42,698.57	\$55,000.00	\$55,000.00	\$60,000.00	\$60,000.00	\$50,500.00	\$50,500.00
E2	REMOVE ASBESTOS CEMENT PIPE	LF	1,140.00	\$16.16	\$18,422.40	\$52.00	\$59,280.00	\$58.00	\$66,120.00	\$37.00	\$42,180.00
E3	ABANDON WATERLINE IN PLACE - CAP AND GROUT	LF	5,670.00	\$6.84	\$38,782.80	\$13.25	\$75,127.50	\$13.00	\$73,710.00	\$18.00	\$102,060.00
E4	8-INCH DIA C900 PVC WATERLINE (DR 18)	LF	5,350.00	\$70.74	\$378,459.00	\$64.00	\$342,400.00	\$90.00	\$481,500.00	\$86.00	\$460,100.00
E5	8-INCH DIA DI WATERLINE	LF	508.00	\$83.97	\$42,656.76	\$120.00	\$60,960.00	\$115.00	\$58,420.00	\$127.00	\$64,516.00
E6	8-INCH BEND (11.25 DEG)	EA	2.00	\$639.24	\$1,278.48	\$720.00	\$1,440.00	\$1,070.00	\$2,140.00	\$636.00	\$1,272.00
E7	8-INCH BEND (22.5 DEG)	EA	3.00	\$659.28	\$1,977.84	\$520.00	\$1,560.00	\$1,100.00	\$3,300.00	\$663.00	\$1,989.00
E8	8-INCH BEND (45 DEG)	EA	32.00	\$678.64	\$21,716.48	\$520.00	\$16,640.00	\$1,120.00	\$35,840.00	\$663.00	\$21,216.00
E9	8-INCH GATE VALVE & BOX	EA	35.00	\$3,304.62	\$115,661.70	\$2,100.00	\$73,500.00	\$2,870.00	\$100,450.00	\$2,414.00	\$84,490.00
E10	8" X 8" TAPPING SLEEVE	EA	1.00	\$5,775.19	\$5,775.19	\$3,600.00	\$3,600.00	\$8,500.00	\$8,500.00	\$8,540.00	\$8,540.00
E11	8" X 6" TEE	EA	9.00	\$857.89	\$7,721.01	\$730.00	\$6,570.00	\$1,280.00	\$11,520.00	\$916.00	\$8,244.00
E12	8" X 8" TEE	EA	4.00	\$973.26	\$3,893.04	\$630.00	\$2,520.00	\$1,400.00	\$5,600.00	\$1,003.00	\$4,012.00
E13	8-INCH TIE-IN CONNECTION	EA	5.00	\$2,302.40	\$11,512.00	\$2,700.00	\$13,500.00	\$3,600.00	\$18,000.00	\$4,613.00	\$23,065.00
E14	6-INCH DIA C900 PVC WATERLINE (DR 18)	LF	320.00	\$63.27	\$20,246.40	\$110.00	\$35,200.00	\$112.00	\$35,840.00	\$128.00	\$40,960.00
E15	6-INCH DIA DI WATERLINE	LF	195.00	\$71.49	\$13,940.55	\$150.00	\$29,250.00	\$112.00	\$21,840.00	\$176.00	\$34,320.00
E16	6-INCH BEND (11.25 DEG)	EA	1.00	\$427.68	\$427.68	\$390.00	\$390.00	\$880.00	\$880.00	\$514.00	\$514.00
E17	6-INCH BEND (22.5 DEG)	EA	15.00	\$486.21	\$7,293.15	\$380.00	\$5,700.00	\$880.00	\$13,200.00	\$500.00	\$7,500.00
E18	6-INCH BEND (45 DEG)	EA	22.00	\$524.94	\$11,548.68	\$430.00	\$9,460.00	\$900.00	\$19,800.00	\$517.00	\$11,374.00
E19	6-INCH GATE VALVE & BOX	EA	9.00	\$2,646.16	\$23,815.44	\$1,600.00	\$14,400.00	\$2,500.00	\$22,500.00	\$1,890.00	\$17,010.00
E20	6-INCH TIE-IN CONNECTION	EA	9.00	\$1,916.48	\$17,248.32	\$2,500.00	\$22,500.00	\$2,460.00	\$22,140.00	\$3,627.00	\$32,643.00
E21	FIRE HYDRANT ASSEMBLY (TYPE 1) (INCLUDING FH, VALVE AND DI LEAD)	EA	3.00	\$2,185.82	\$6,557.46	\$8,700.00	\$26,100.00	\$7,890.00	\$23,670.00	\$10,605.00	\$31,815.00
E22	FIRE HYDRANT ASSEMBLY (TYPE 2) (INCLUDING FH, VALVE AND DI LEAD)	EA	15.00	\$7,432.01	\$111,480.15	\$6,300.00	\$94,500.00	\$9,240.00	\$138,600.00	\$8,838.00	\$132,570.00
E23	SERVICE LINE REPLACEMENT (LONG)	EA	45.00	\$2,837.44	\$127,684.80	\$1,900.00	\$85,500.00	\$3,700.00	\$166,500.00	\$3,535.00	\$159,075.00
E24	SERVICE LINE REPLACEMENT (SHORT)	EA	22.00	\$2,086.84	\$45,910.48	\$1,700.00	\$37,400.00	\$2,300.00	\$50,600.00	\$2,525.00	\$55,550.00
E25	TRENCH SAFETY	LF	5,670.00	\$3.59	\$20,355.30	\$1.95	\$11,056.50	\$2.50	\$14,175.00	\$4.00	\$22,680.00
E26	ALLOWANCE FOR UNANTICIPATED WATER IMPROVEMENTS	AL	1.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
Sub Totals					\$1,147,063.68		\$1,133,554.00		\$1,504,845.00		\$1,468,195.00
PART F - WASTEWATER IMPROVEMENTS											
F1	MOBILIZATION (MAX. 5% OF PART F)	LS	1.00	\$33,250.00	\$33,250.00	\$54,000.00	\$54,000.00	\$58,000.00	\$58,000.00	\$50,500.00	\$50,500.00
F2	BYPASS PUMPING	LS	1.00	\$39,639.06	\$39,639.06	\$83,200.00	\$83,200.00	\$77,000.00	\$77,000.00	\$80,800.00	\$80,800.00
F3	6-INCH FORCEMAIN ADJUSTMENTS (70 LF)	LS	1.00	\$7,492.94	\$7,492.94	\$6,600.00	\$6,600.00	\$13,300.00	\$13,300.00	\$5,398.00	\$5,398.00
F4	REMOVE AND REPLACE 8" DR 26 WASTEWATER LINE (6' - 8' DEPTH)	LF	6,050.00	\$81.17	\$491,078.50	\$79.00	\$477,950.00	\$125.00	\$756,250.00	\$97.00	\$586,850.00
F5	TRENCH SAFETY REMOVE & REPLACE WASTEWATER LINE (6' - 8' DEPTH)	LF	6,050.00	\$3.59	\$21,719.50	\$2.50	\$15,125.00	\$3.00	\$18,150.00	\$4.00	\$24,200.00
F6	WASTEWATER SERVICE RECONSTRUCTION	EA	70.00	\$2,142.49	\$149,974.30	\$1,700.00	\$119,000.00	\$1,600.00	\$112,000.00	\$3,636.00	\$254,520.00
F7	4-FOOT DIA FIBERGLASS MANHOLE	EA	25.00	\$8,400.82	\$210,020.50	\$10,500.00	\$262,500.00	\$9,200.00	\$230,000.00	\$11,110.00	\$277,750.00
F8	18" STEEL CASING - CONFLICT STRUCTURES	LF	60.00	\$245.38	\$14,722.80	\$410.00	\$24,600.00	\$465.00	\$27,900.00	\$591.00	\$35,460.00
F9	TRENCH SAFETY FOR WASTEWATER MANHOLE	EA	15.00	\$747.95	\$11,219.25	\$440.00	\$6,600.00	\$170.00	\$2,550.00	\$354.00	\$5,310.00
F10	ALLOWANCE FOR UNANTICIPATED WASTEWATER IMPROVEMENTS	AL	1.00	\$55,000.00	\$55,000.00	\$55,000.00	\$55,000.00	\$55,000.00	\$55,000.00	\$55,000.00	\$55,000.00
Sub Totals					\$1,034,116.85		\$1,104,575.00		\$1,350,150.00		\$1,375,788.00
PART G - GAS IMPROVEMENTS											
G1	MOBILIZATION (MAX. 5% OF PART I)	1.0	1.00	\$1,750.00	\$1,750.00	\$13,000.00	\$13,000.00	\$11,000.00	\$11,000.00	\$7,000.00	\$7,000.00
G2	TRENCHING FOR GAS LINE	LS I F	8,950.00	\$5.45	\$48,777.50	\$32.00	\$286,400.00	\$28.00	\$250,600.00	\$15.00	\$134,250.00
G3	ALLOWANCE FOR UNANTICIPATED GAS IMPROVEMENTS	AL	1.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
Sub Totals		AL	1.00	ψ10,000.00	\$60,527.50	ψ10,000.00	\$309,400.00	ψ10,000.00	\$271,600.00	ψ10,000.00	\$151,250.00
Grand Total					\$12,563,957.74		\$15,542,556.25		\$15,704,735.00		\$16,169,947.00

C1

C2

Item	Description	Unit	Quantity	Mako Contracting	Total	Carroll Weaver	Total	GO UNDERGROUND LLC	Total
Base Bid No. 1			I						
PART A - GENERAL									
A1	MOBILIZATION (MAX. 5% OF PART A)	LS	1.00	\$50,000.00	\$50,000.00	\$49,890.79	\$49,890.79	\$35,000.00	\$35,000.00
A2	BONDS & INSURANCE	AL	1.00	\$198,000.00	\$198,000.00	\$102,600.00	\$102,600.00	\$150,000.00	\$150,000.00
43	CLEAR RIGHT OF WAY	AC	10.00	\$40,000.00	\$400,000.00	\$12,940.08	\$129,400.80	\$15,000.00	\$150,000.00
<del>\</del> 4	OZONE DAYS	EA	5.00	\$1.00	\$5.00	\$85.50	\$427.50	\$500.00	\$2,500.00
A5	TRAFFIC CONTROL MOBILIZATION	LS	1.00	\$14,938.50	\$14,938.50	\$380,000.00	\$380,000.00	\$48,000.00	\$48,000.00
46	TEMPORARY TRAFFIC CONTROL	МО	15.00	\$1,753.65	\$26,304.75	\$27,711.66	\$415,674.90	\$3,200.00	\$48,000.00
A7	TEMPORARY TRAFFIC MESSAGE BOARD	EΑ	2.00	\$23,706.75	\$47,413.50	\$15,000.00	\$30,000.00	\$24,000.00	\$48,000.00
84	TEMPORARY TRAFFIC CONTROL DESIGN BY A PROFESSIONAL	LS	1.00	\$262,500.00	\$262,500.00	\$85,500.00	\$85,500.00	\$10,000.00	\$10,000.00
<b>1</b> 9	SWPPP AND BMPS	LS	1.00	\$75,000.00	\$75,000.00	\$17,100.00	\$17,100.00	\$22,000.00	\$22,000.00
<b>A10</b>	SURVEY MONUMENT	EΑ	2.00	\$500.00	\$1,000.00	\$1,368.00	\$2,736.00	\$11,000.00	\$22,000.00
<b>A11</b>	BLOCK SODDING	SY	10,000.00	\$11.00	\$110,000.00	\$9.12	\$91,200.00	\$2.20	\$22,000.00
A12	FENCE (IRON/WOOD/CHAINLINK) REMOVAL	LF	660.00	\$20.00	\$13,200.00	\$62.70	\$41,382.00	\$80.00	\$52,800.00
A13	FENCE (IRON/WOOD/CHAINLINK) REPLACEMENT	LF	635.00	\$75.00	\$47,625.00	\$108.30	\$68,770.50	\$80.00	\$50,800.00
<b>A14</b>	TEMPORARY INTERSECTION SIGNAL ADJUSTMENTS	LS	1.00	\$10,000.00	\$10,000.00	\$17,100.00	\$17,100.00	\$105,000.00	\$105,000.00
A15	TRAFFIC CONTROL POLICE OFFICER ASSISTANCE	HR	40.00	\$75.00	\$3,000.00	\$142.50	\$5,700.00	\$180.00	\$7,200.00
A16	ALLOWANCE FOR UNANTICIPATED ENVIRONMENTAL ISSUES	LS	1.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
A17	ALLOWANCE FOR UNANTICIPATED GENERAL ACTIVITIES	AL	1.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
Sub Totals					\$1,273,986.75		\$1,452,482.49		\$788,300.00
PART B - STREET IMPROVEMENTS									
31	MOBILIZATION (MAX. 5% OF PART B)	<b>■</b> LS	1.00	\$175,000.00	\$175,000.00	\$273,038.75	\$273,038.75	\$80,000.00	\$80,000.00
32	STREET EXCAVATION AND EMBANKMENT	SY	33,100.00	\$24.00	\$794,400.00	\$35.00	\$1,158,500.00	\$12.00	\$397,200.00
33	DEMOLITION OF ASPHALT DRIVEWAY	SY	3,200.00	\$8.00	\$25,600.00	\$5.61	\$17,952.00	\$12.00	\$38,400.00
34	DEMOLITION OF CONCRETE DRIVEWAY	SY	2,700.00	\$36.00	\$97,200.00	\$5.61	\$15,147.00	\$12.00	\$32,400.00
35	LIME STABILIZED AND COMPACTED SUBGRADE (OVERALL 8-INCH	SY	26,500.00	\$20.00	\$530,000.00	\$20.00	\$530,000.00	\$7.27	\$192,655.00
36	CRUSHED LIMESTONE FLEX BASE (11-INCH THICK)	SY	26,500.00		\$1,060,000.00		\$1,775,500.00	\$37.04	\$981,560.00
37	HMAC (TYPE D) (FINAL SURFACE) (4-INCH THICK)	SY	26,500.00	\$44.81	\$1,187,465.00		\$1,113,000.00	\$34.32	\$909,480.00
38	PRIME COAT (MC-30) (0.15 GAL/SY)	GAL	4 000 00	\$6.90	\$27,600.00	\$5.00	\$20,000.00	\$12.00	\$48,000.00
39	SINGLE COURSE SURFACE TREATMENT (UNDERSEAL)	SY	26,500.00	\$7.15	\$189,475.00	\$5.00	\$132,500.00	\$8.00	\$212,000.00
310	REINFORCED CONCRETE DRIVEWAY (6-INCH THICK)	SF	23,400.00	\$10.00	\$234,000.00	\$14.65	\$342,810.00	\$10.63	\$248,742.00
311	REFL PAV MRK 6-INCH BROKEN YELLOW	l F	1,760.00	\$1.32	\$2,323.20	\$1.25	\$2,200.00	\$2.58	\$4,540.80
312	REFL PAV MRK 6-INCH YELLOW SOLID	l F	410.00	\$1.32	\$541.20	\$1.25	\$512.50	\$1.50	\$615.00
313	REFL PAV MRK 6-INCH WHITE SOLID	l F	14,500.00	\$0.82	\$11,890.00	\$0.78	\$11,310.00	\$1.50	\$21,750.00
314	REFL PAV MRK 24-INCH WHITE SOLID (CROSSWALK AND STOP BAR		1,000.00	\$16.80	\$16,800.00	\$15.96	\$15,960.00	\$12.00	\$12,000.00
315	RAISED PAVEMENT MARKERS TYPE II A-A	EA	100.00	\$9.00	\$900.00	\$8.55	\$855.00	\$10.00	\$1,000.00
316	FURNISH AND INSTALL NEW REGULATORY SIGNAGE WITH BASE*	EA	30.00	\$1,002.00	\$30,060.00	\$1,026.00	\$30,780.00	\$700.00	\$21,000.00
317	REMOVE AND DISPOSE OF EXISTING REGULATORY SIGNAGE WITH		27.00	\$78.00	\$2,106.00	\$75.00	\$2,025.00	\$1.00	\$27.00
318	ALLOWANCE FOR UNANTICIPATED STREET IMPROVEMENTS	AL	1.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00
Sub Totals		AL		Ţ.50,000.00	\$4,535,360.40	Ţ . 55,555.50	\$5,592,090.25	Ţ.55,555.00	\$3,351,369.80

1.00

SF 27,100.00

LS

\$30,000.00

\$2.25

\$30,000.00

\$60,975.00

\$29,934.49

\$0.62

\$29,934.49

\$16,802.00

\$12,000.00

\$3.00

\$12,000.00

\$81,300.00

MOBILIZATION (MAX. 5% OF PART C)

DEMOLITION OF CONCRETE SIDEWALK

C3	REINFORCED CONCRETE SIDEWALK (4-INCH THICK) (INCLUDING 2-	SF	55,650.00	\$8.75	\$486,937.50	\$9.41	\$523,666.50	\$8.82	\$490,833.00
C4	REINFORCED CONCRETE CURB RAMP	SF	3,350.00	\$25.00	\$83,750.00	\$44.34	\$148,539.00	\$17.99	\$60,266.50
C5	ALLOWANCE FOR UNANTICIPATED ADA IMPROVEMENTS	AL	1.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00
Sub Totals					\$681,662.50		\$738,941.99		\$664,399.50
PART D - STORM WATER IMPROVEMENTS D1	MOBILIZATION (MAX. 5% OF PART D)		1.00	\$200,000.00	\$200,000.00	\$304,000.00	\$304,000.00	\$80,000.00	\$80,000.00
D2	CURB AND GUTTER DEMOLITION	LS . –	7,200.00	\$8.00	\$57,600.00	\$3.74	\$26,928.00	\$6.00	\$43,200.00
	REMOVAL OF EXISTING STORMWATER PIPE (0-48")	LF 				\$3.74 \$11.21	\$66,139.00		
D3	,	LF	5,900.00 4,020.00	\$28.00	\$165,200.00 \$157,584.00			\$8.00 \$8.00	\$47,200.00
D4	REMOVAL OF EXISTING STORMWATER PIPE (48"+) 5' CURB INLET	LF	4,020.00 25.00	\$39.20	\$157,584.00	\$32.03 \$9,177.24	\$128,760.60 \$229,431.00	\$4,555.00	\$32,160.00 \$113,875.00
D5		EA		\$6,496.00 \$14,550.00	\$162,400.00				
D6	5' CURB INLET (10' THROAT)	EA	29.00	\$11,550.00	\$334,950.00	\$10,051.78 \$13,590.00	\$291,501.62	\$4,665.00	\$135,285.00
D7	5' CURB INLET (15' THROAT)	EA	5.00	\$7,820.00	\$39,100.00	\$12,580.90	\$62,904.50	\$8,200.00	\$41,000.00
D8	10' CURB INLET	EA	1.00	\$8,280.00	\$8,280.00	\$18,409.41	\$18,409.41	\$7,525.00	\$7,525.00
D9	SPECIAL CURB INLET (TXDOT)	EA	2.00	\$10,580.00	\$21,160.00	\$11,467.53	\$22,935.06	\$8,025.00	\$16,050.00
D10	GRATE INLET (2' X 2') (TXDOT)	EΑ	1.00	\$4,715.00	\$4,715.00	\$9,175.90	\$9,175.90	\$7,525.00	\$7,525.00
D11	GRATE INLET (4' X 4') (TXDOT)	EΑ	2.00	\$7,475.00	\$14,950.00	\$9,178.03	\$18,356.06	\$8,550.00	\$17,100.00
D12	SIDEWALK DRAIN	EΑ	9.00	\$2,500.00	\$22,500.00	\$9,177.30	\$82,595.70	\$4,500.00	\$40,500.00
D13	MODIFY JUNCTION BOX (TXDOT)	EA	4.00	\$12,650.00	\$50,600.00	\$9,176.95	\$36,707.80	\$6,800.00	\$27,200.00
D14	MANHOLE RISER STRUCTURE	EΑ	33.00	\$6,670.00	\$220,110.00	\$4,227.02	\$139,491.66	\$6,075.00	\$200,475.00
D15	SAFETY END TREATMENT (PARALLEL WALLS)	EΑ	1.00	\$25,000.00	\$25,000.00	\$9,175.50	\$9,175.50	\$22,000.00	\$22,000.00
D16	TYPE D MANHOLE - 4'X4' JUNCTION BOX	EΑ	3.00	\$12,765.00	\$38,295.00	\$6,145.26	\$18,435.78	\$7,550.00	\$22,650.00
D17	TYPE D MANHOLE - 6'X4' JUNCTION BOX	EΑ	3.00	\$13,455.00	\$40,365.00	\$10,971.78	\$32,915.34	\$8,550.00	\$25,650.00
D18	TYPE D MANHOLE - 6'X6' JUNCTION BOX	EΑ	2.00	\$15,870.00	\$31,740.00	\$9,661.92	\$19,323.84	\$10,025.00	\$20,050.00
D19	TYPE D MANHOLE - 8'X4' JUNCTION BOX	EΑ	6.00	\$17,250.00	\$103,500.00	\$18,273.44	\$109,640.64	\$10,550.00	\$63,300.00
D20	TYPE D MANHOLE - 8'X8' JUNCTION BOX	EΑ	6.00	\$25,300.00	\$151,800.00	\$25,080.08	\$150,480.48	\$11,616.00	\$69,696.00
D21	TYPE A MANHOLE - 5' DIA	EΑ	2.00	\$9,660.00	\$19,320.00	\$7,569.19	\$15,138.38	\$7,165.00	\$14,330.00
D22	18" RCP (CLASS III)	LF	655.00	\$138.00	\$90,390.00	\$117.01	\$76,641.55	\$80.56	\$52,766.80
D23	24" RCP (CLASS III)	LF	755.00	\$155.25	\$117,213.75	\$142.47	\$107,564.85	\$86.45	\$65,269.75
D24	30" RCP (CLASS III)	LF	60.00	\$201.25	\$12,075.00	\$164.21	\$9,852.60	\$115.93	\$6,955.80
D25	36" RCP (CLASS III)	LF	460.00	\$232.30	\$106,858.00	\$215.00	\$98,900.00	\$146.28	\$67,288.80
D26	48" RCP (CLASS III)	LF	20.00	\$289.80	\$5,796.00	\$530.00	\$10,600.00	\$246.00	\$4,920.00
D27	3'X3' REINFORCED CONCRETE BOX	LF	240.00	\$399.05	\$95,772.00	\$440.58	\$105,739.20	\$744.00	\$178,560.00
D28	4'X3' REINFORCED CONCRETE BOX	LF	375.00	\$433.00	\$162,375.00	\$484.58	\$181,717.50	\$492.00	\$184,500.00
D29	4'X4' REINFORCED CONCRETE BOX	LF	745.00	\$531.30	\$395,818.50	\$532.48	\$396,697.60	\$611.00	\$455,195.00
D30	5'X3' REINFORCED CONCRETE BOX	LF	340.00	\$576.15	\$195,891.00	\$594.97	\$202,289.80	\$647.00	\$219,980.00
D31	5'X4' REINFORCED CONCRETE BOX	LF	1,120.00	\$615.25	\$689,080.00	\$641.99	\$719,028.80	\$697.00	\$780,640.00
D32	5'X5' REINFORCED CONCRETE BOX	LF	185.00	\$672.75	\$124,458.75	\$676.65	\$125,180.25	\$741.00	\$137,085.00
D33	6'X4' REINFORCED CONCRETE BOX	LF	2,015.00	\$700.00	\$1,410,500.00	\$765.75	\$1,542,986.25	\$771.84	\$1,555,257.60
D34	6'X5' REINFORCED CONCRETE BOX	LF	1,475.00	\$840.65	\$1,239,958.75	\$805.35	\$1,187,891.25	\$802.24	\$1,183,304.00
D35	6'X6' REINFORCED CONCRETE BOX	LF	40.00	\$840.65	\$33,626.00	\$900.44	\$36,017.60	\$846.40	\$33,856.00
D36	24" RCP 30° BENDS	EA	1.00	\$2,875.00	\$2,875.00	\$3,252.77	\$3,252.77	\$553.00	\$553.00
D37	6'X4' REINFORCED CONCRETE BOX 15° BENDS	EA	1.00	\$18,400.00	\$18,400.00	\$6,965.48	\$6,965.48	\$11,227.64	\$11,227.64
D38	5'X4' REINFORCED CONCRETE BOX 30° BENDS	EA	1.00	\$16,100.00	\$16,100.00	\$10,059.41	\$10,059.41	\$9,578.24	\$9,578.24
D39	6'X4' REINFORCED CONCRETE BOX 30° BENDS	EA	2.00	\$18,400.00	\$36,800.00	\$10,059.50	\$20,119.00	\$11,227.64	\$22,455.28
D40	REINFORCED CONCRETE CURB AND GUTTER (6-INCH) (INCLUDES	I F	14,580.00	\$30.00	\$437,400.00	\$52.25	\$761,805.00	\$28.00	\$408,240.00
D41	RIPRAP (12") (TXDOT ITEM 432)	SY	55.00	\$150.00	\$8,250.00	\$220.93	\$12,151.15	\$100.00	\$5,500.00
D42	TRENCH SAFETY	I F	8,485.00	\$5.00	\$42,425.00	\$2.28	\$19,345.80	\$3.89	\$33,006.65
D43	ALLOWANCE FOR UNANTICIPATED STORM WATER IMPROVEMENTS		1.00	\$230,000.00	\$230,000.00	\$230,000.00	\$230,000.00	\$230,000.00	\$230,000.00
Sub Totals		, \L		,,	\$7,341,231.75	. ,	\$7,657,252.13	. 11,111	\$6,692,910.56
									. , , , , , , , , , , , , , , , , , , ,

PART E - WATER IMPROVEMENTS									
E1	MOBILIZATION (MAX. 5% OF PART E)	LS	1.00	\$35,000.00	\$35,000.00	\$39,912.62	\$39,912.62	\$12,000.00	\$12,000.00
E2	REMOVE ASBESTOS CEMENT PIPE	LF	1,140.00	\$36.00	\$41,040.00	\$17.10	\$19,494.00	\$120.00	\$136,800.00
E3	ABANDON WATERLINE IN PLACE - CAP AND GROUT	LF	5,670.00	\$33.60	\$190,512.00	\$4.56	\$25,855.20	\$11.88	\$67,359.60
E4	8-INCH DIA C900 PVC WATERLINE (DR 18)	LF	5,350.00	\$94.00	\$502,900.00	\$56.32	\$301,312.00	\$78.30	\$418,905.00
E5	8-INCH DIA DI WATERLINE	LF	508.00	\$117.60	\$59,740.80	\$128.02	\$65,034.16	\$96.97	\$49,260.76
E6	8-INCH BEND (11.25 DEG)	EA	2.00	\$780.00	\$1,560.00	\$795.32	\$1,590.64	\$1,155.00	\$2,310.00
E7	8-INCH BEND (22.5 DEG)	EA	3.00	\$822.00	\$2,466.00	\$826.68	\$2,480.04	\$1,175.00	\$3,525.00
E8	8-INCH BEND (45 DEG)	EΑ	32.00	\$1,140.00	\$36,480.00	\$857.59	\$27,442.88	\$1,192.50	\$38,160.00
E9	8-INCH GATE VALVE & BOX	EA	35.00	\$3,000.00	\$105,000.00	\$2,783.72	\$97,430.20	\$2,557.71	\$89,519.85
E10	8" X 8" TAPPING SLEEVE	EA	1.00	\$9,840.00	\$9,840.00	\$2,838.57	\$2,838.57	\$3,805.00	\$3,805.00
E11	8" X 6" TEE	EA	9.00	\$1,170.00	\$10,530.00	\$733.86	\$6,604.74	\$1,355.56	\$12,200.04
E12	8" X 8" TEE	EA	4.00	\$1,230.00	\$4,920.00	\$1,229.10	\$4,916.40	\$1,460.00	\$5,840.00
E13	8-INCH TIE-IN CONNECTION	EA	5.00	\$3,360.00	\$16,800.00	\$3,152.55	\$15,762.75	\$3,690.00	\$18,450.00
E14	6-INCH DIA C900 PVC WATERLINE (DR 18)	LF	320.00	\$85.20	\$27,264.00	\$69.24	\$22,156.80	\$72.24	\$23,116.80
E15	6-INCH DIA DI WATERLINE	LF	195.00	\$110.40	\$21,528.00	\$110.08	\$21,465.60	\$105.15	\$20,504.25
E16	6-INCH BEND (11.25 DEG)	EA	1.00	\$718.75	\$718.75	\$734.70	\$734.70	\$995.00	\$995.00
E17	6-INCH BEND (22.5 DEG)	EA	15.00	\$741.75	\$11,126.25	\$733.86	\$11,007.90	\$1,055.00	\$15,825.00
E18	6-INCH BEND (45 DEG)	EA	22.00	\$1,006.25	\$22,137.50	\$733.90	\$16,145.80	\$1,090.00	\$23,980.00
E19	6-INCH GATE VALVE & BOX	EA	9.00	\$1,725.00	\$15,525.00	\$2,041.18	\$18,370.62	\$1,958.89	\$17,630.01
E20	6-INCH TIE-IN CONNECTION	EA	9.00	\$3,220.00	\$28,980.00	\$3,059.73	\$27,537.57	\$6,840.00	\$61,560.00
E21	FIRE HYDRANT ASSEMBLY (TYPE 1) (INCLUDING FH, VALVE AND DI	FΑ	3.00	\$9,775.00	\$29,325.00	\$7,669.68	\$23,009.04	\$9,903.33	\$29,709.99
E22	FIRE HYDRANT ASSEMBLY (TYPE 2) (INCLUDING FH, VALVE AND DI	FΑ	15.00	\$9,660.00	\$144,900.00	\$8,288.46	\$124,326.90	\$10,260.67	\$153,910.05
E23	SERVICE LINE REPLACEMENT (LONG)	EΑ	45.00	\$1,380.00	\$62,100.00	\$1,335.27	\$60,087.15	\$1,525.64	\$68,653.80
E24	SERVICE LINE REPLACEMENT (SHORT)	EA	22.00	\$1,132.75	\$24,920.50	\$1,366.27	\$30,057.94	\$1,494.59	\$32,880.98
E25	TRENCH SAFETY	LF.	5,670.00	\$2.50	\$14,175.00	\$2.28	\$12,927.60	\$4.65	\$26,365.50
E26	ALLOWANCE FOR UNANTICIPATED WATER IMPROVEMENTS	AL	1.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
Sub Totals					\$1,469,488.80		\$1,028,501.82		\$1,383,266.63
PART F - WASTEWATER IMPROVEMENTS				***		*		4.0.00	
F1	MOBILIZATION (MAX. 5% OF PART F)	LS	1.00	\$50,000.00	\$50,000.00	\$45,000.00	\$45,000.00	\$12,000.00	\$12,000.00
F2	BYPASS PUMPING	LS	1.00	\$118,450.00	\$118,450.00	\$74,100.00	\$74,100.00	\$120,000.00	\$120,000.00
F3	6-INCH FORCEMAIN ADJUSTMENTS (70 LF)	LS	1.00	\$11,270.00	\$11,270.00	\$17,239.79		\$14,497.00	\$14,497.00
F4	REMOVE AND REPLACE 8" DR 26 WASTEWATER LINE (6' - 8' DEPTH)	LF	6,050.00	\$101.20	\$612,260.00	\$113.50	\$686,675.00	\$80.15	\$484,907.50
F5	TRENCH SAFETY REMOVE & REPLACE WASTEWATER LINE (6' - 8'	LF	6,050.00	\$3.45	\$20,872.50	\$2.28	\$13,794.00	\$5.64	\$34,122.00
F6	WASTEWATER SERVICE RECONSTRUCTION	EΑ	70.00	\$1,610.00	\$112,700.00	\$4,000.55	\$280,038.50	\$1,545.26	\$108,168.20
F7	4-FOOT DIA FIBERGLASS MANHOLE	EA	25.00	\$10,120.00	\$253,000.00	\$7,529.28	\$188,232.00	\$5,585.28	\$139,632.00
F8	18" STEEL CASING - CONFLICT STRUCTURES	LF	60.00	\$517.50	\$31,050.00	\$382.21	\$22,932.60	\$349.50	\$20,970.00
F9	TRENCH SAFETY FOR WASTEWATER MANHOLE	EΑ	15.00	\$488.75	\$7,331.25	\$399.00	\$5,985.00	\$2,200.00	\$33,000.00
F10	ALLOWANCE FOR UNANTICIPATED WASTEWATER IMPROVEMENTS	AL	1.00	\$55,000.00	\$55,000.00	\$55,000.00	\$55,000.00	\$55,000.00	\$55,000.00
Sub Totals					\$1,271,933.75		\$1,388,996.89		\$1,022,296.70
PART G - GAS IMPROVEMENTS									
G1	MOBILIZATION (MAX. 5% OF PART I)	LS	1.00	\$10,000.00	\$10,000.00	\$1,663.03	\$1,663.03	\$2,000.00	\$2,000.00
G2	TRENCHING FOR GAS LINE	I F	8,950.00	\$30.00	\$268,500.00	\$10.80	\$96,660.00	\$12.00	\$107,400.00
G3	ALLOWANCE FOR UNANTICIPATED GAS IMPROVEMENTS	AL	1.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
Sub Totals		AL.		Ţ · - ,- 30.00	\$288,500.00	, 1,11119	\$108,323.03	Ţ 13,323 <b>00</b>	\$119,400.00
Grand Total					\$16,862,163.95		\$17,966,588.60		\$14,021,943.19

Base Bid No. 2

PART A - GENERAL									
A1	MOBILIZATION (MAX. 5% OF PART A)	LS	1.00	\$50,000.00	\$50,000.00	\$50,192.26	\$50,192.26	\$30,000.00	\$30,000.00
A2	BONDS & INSURANCE	AL	1.00	\$198,000.00	\$198,000.00	\$102,600.00	\$102,600.00	\$220,000.00	\$220,000.00
A3	CLEAR RIGHT OF WAY	AC	10.00	\$40,000.00	\$400,000.00	\$13,018.27	\$130,182.70	\$15,000.00	\$150,000.00
A4	TRAFFIC CONTROL MOBILIZATION	LS	1.00	\$15,000.00	\$15,000.00	\$380,000.00	\$380,000.00	\$48,000.00	\$48,000.00
A5	TEMPORARY TRAFFIC CONTROL	MO	15.00	\$1,750.00	\$26,250.00	\$27,810.22	\$417,153.30	\$3,200.00	\$48,000.00
A6	TEMPORARY TRAFFIC MESSAGE BOARD	EA	2.00	\$23,700.00	\$47,400.00	\$15,000.00	\$30,000.00	\$24,000.00	\$48,000.00
A7	TEMPORARY TRAFFIC CONTROL DESIGN BY A PROFESSIONAL	LS	1.00	\$262,500.00	\$262,500.00	\$85,500.00	\$85,500.00	\$10,000.00	\$10,000.00
A8	SWPPP AND BMPS	LS	1.00	\$75,000.00	\$75,000.00	\$17,100.00	\$17,100.00	\$22,000.00	\$22,000.00
A9	SURVEY MONUMENT	EA	2.00	\$500.00	\$1,000.00	\$1,368.00	\$2,736.00	\$11,000.00	\$22,000.00
A10	BLOCK SODDING	SY	10,000.00	\$12.00	\$120,000.00	\$9.12	\$91,200.00	\$2.20	\$22,000.00
A11	FENCE (IRON/WOOD/CHAINLINK) REMOVAL	l F	660.00	\$20.00	\$13,200.00	\$62.70	\$41,382.00	\$40.00	\$26,400.00
A12	FENCE (IRON/WOOD/CHAINLINK) REPLACEMENT	LF	635.00	\$75.00	\$47,625.00	\$108.30	\$68,770.50	\$40.00	\$25,400.00
A13	TEMPORARY INTERSECTION SIGNAL ADJUSTMENTS	LS	1.00	\$10,000.00	\$10,000.00	\$17,100.00	\$17,100.00	\$105,000.00	\$105,000.00
A14	TRAFFIC CONTROL POLICE OFFICER ASSISTANCE	HR	40.00	\$100.00	\$4,000.00	\$142.50	\$5,700.00	\$180.00	\$7,200.00
A15	ALLOWANCE FOR UNANTICIPATED ENVIRONMENTAL ISSUES	LS	1.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
A16	ALLOWANCE FOR UNANTICIPATED GENERAL ACTIVITIES	AL	1.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
Sub Totals					\$1,284,975.00		\$1,454,616.76		\$799,000.00
PART B - STREET IMPROVEMENTS									
B1	MOBILIZATION (MAX. 5% OF PART B)	LS	1.00	\$150,000.00	\$150,000.00	\$215,000.00	\$215,000.00	\$150,000.00	\$150,000.00
B2	STREET EXCAVATION AND EMBANKMENT	SY	33,100.00	\$15.00	\$496,500.00	\$35.00		\$12.00	\$397,200.00
B3	DEMOLITION OF ASPHALT DRIVEWAY	SY	3,200.00	\$7.00	\$22,400.00	\$5.64	\$18,048.00	\$12.00	\$38,400.00
B4	DEMOLITION OF CONCRETE DRIVEWAY	SY	2,700.00	\$36.00	\$97,200.00	\$5.64	\$15,228.00	\$12.00	\$32,400.00
B5	LIME STABILIZED AND COMPACTED SUBGRADE (OVERALL 8-INCH	SY	26,500.00	\$20.00	\$530,000.00	\$20.00	\$530,000.00	\$7.27	\$192,655.00
B6	REINFORCED CONCRETE PAVEMENT (8-INCH THICK)	SY	26,500.00		\$2,411,500.00	\$90.20	\$2,390,300.00	\$280.00	\$7,420,000.00
B7	REINFORCED CONCRETE DRIVEWAY (6-INCH THICK)	SF	23,400.00	\$10.00	\$234,000.00	\$14.65	\$342,810.00	\$10.63	\$248,742.00
B8	REFL PAV MRK 6-INCH BROKEN YELLOW	LF	1,760.00	\$1.50	\$2,640.00	\$1.25	\$2,200.00	\$2.58	\$4,540.80
B9	REFL PAV MRK 6-INCH BROKEN YELLOW	LF	410.00	\$1.50	\$615.00	\$1.25	\$512.50	\$1.50	\$615.00
B10	REFL PAV MRK 6-INCH WHITE SOLID	LF	14,500.00	\$0.90	\$13,050.00	\$0.78	\$11,310.00	\$1.50	\$21,750.00
B11	REFL PAV MRK 24-INCH WHITE SOLID (CROSSWALK AND STOP BAR	R) LF	1,000.00	\$18.54	\$18,540.00	\$15.96	\$15,960.00	\$12.00	\$12,000.00
B12	RAISED PAVEMENT MARKERS TYPE II A-A	EA	100.00	\$9.90	\$990.00	\$8.55	\$855.00	\$10.00	\$1,000.00
B13	FURNISH AND INSTALL NEW REGULATORY SIGNAGE WITH BASE	EA	30.00	\$1,002.00	\$30,060.00	\$1,026.00	\$30,780.00	\$700.00	\$21,000.00
B14	REMOVE AND DISPOSE OF EXISTING REGULATORY SIGNAGE WITH	EA	27.00	\$78.00	\$2,106.00	\$75.00	\$2,025.00	\$1.00	\$27.00
B15	ALLOWANCE FOR UNANTICIPATED STREET IMPROVEMENTS	AL	1.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00
Sub Totals					\$4,159,601.00		\$4,883,528.50		\$8,690,329.80
PART C - ADA IMPROVEMENTS									
C1	MOBILIZATION (MAX. 5% OF PART C)		1.00	\$30,000.00	\$30,000.00	\$30,115.37	\$30,115.37	\$25,000.00	\$25,000.00
C2	DEMOLITION OF CONCRETE SIDEWALK	LS	27,100.00	\$2.25	\$60,975.00	\$0.62	\$16,802.00	\$3.00	\$81,300.00
C3	REINFORCED CONCRETE SIDEWALK (4-INCH THICK) (INCLUDING 2-	SF SF	55,650.00	\$8.50	\$473,025.00	\$9.47	\$527,005.50	\$8.82	\$490,833.00
C4	REINFORCED CONCRETE CURB RAMP	SF SF	3,350.00	\$25.00	\$83,750.00	\$44.61	\$149,443.50	\$17.99	\$60,266.50
C5	ALLOWANCE FOR UNANTICIPATED ADA IMPROVEMENTS	SF AL	1.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00
Sub Totals		AL	1.00	Ψ20,000.00	\$667,750.00	Ψ20,000.00	\$743,366.37	Ψ20,000.00	\$677,399.50
- 1.5 (1.6)					φσστ, r σσ.σσ		φ. 10,000.01		ψο. 1,000.00
PART D - STORM WATER IMPROVEMENTS									
D1	MOBILIZATION (MAX. 5% OF PART D)	LS	1.00	\$200,000.00	\$200,000.00	\$304,000.00	\$304,000.00	\$180,000.00	\$180,000.00

D2	CURB AND GUTTER DEMOLITION	. –	7,200.00	\$8.00	\$57,600.00	\$3.76	\$27,072.00	\$6.00	\$43,200.00
D3	REMOVAL OF EXISTING STORMWATER PIPE (0-48")	LF	5,900.00	\$28.00	\$165,200.00	\$11.28	\$66,552.00	\$8.00	\$47,200.00
D4	REMOVAL OF EXISTING STORMWATER PIPE (48"+)	LF LF	4,020.00	\$39.20	\$157,584.00	\$32.23	\$129,564.60	\$8.00	\$32,160.00
D5	5' CURB INLET	EA	25.00	\$6,496.00	\$162,400.00	\$9,232.70	\$230,817.50	\$5,263.00	\$131,575.00
D6	5' CURB INLET (10' THROAT)	EA	29.00	\$11,550.00	\$334,950.00	\$10,112.52	\$293,263.08	\$5,265.86	\$152,709.94
D7	5' CURB INLET (15' THROAT)	EA	5.00	\$7,820.00	\$39,100.00	\$12,565.92	\$62,829.60	\$8,800.00	\$44,000.00
D8	10' CURB INLET	EA	1.00	\$8,280.00	\$8,280.00	\$18,520.65	\$18,520.65	\$8,125.00	\$8,125.00
D9	SPECIAL CURB INLET (TXDOT)	EA	2.00	\$10,580.00	\$21,160.00	\$11,536.83	\$23,073.66	\$8,625.00	\$17,250.00
D10	GRATE INLET (2' X 2') (TXDOT)	EA	1.00	\$4,715.00	\$4,715.00	\$9,231.35	\$9,231.35	\$8,125.00	\$8,125.00
D11	GRATE INLET (4' X 4') (TXDOT)	EA	2.00	\$7,475.00	\$14,950.00	\$9,233.49	\$18,466.98	\$8,625.00	\$17,250.00
D12	SIDEWALK DRAIN	EA	9.00	\$2,500.00	\$22,500.00	\$9,232.75	\$83,094.75	\$4,500.00	\$40,500.00
D13	MODIFY JUNCTION BOX (TXDOT)	EA	4.00	\$12,650.00	\$50,600.00	\$9,232.41	\$36,929.64	\$6,800.00	\$27,200.00
D14	MANHOLE RISER STRUCTURE	EA	33.00	\$6,670.00	\$220,110.00	\$4,262.56	\$140,664.48	\$6,075.00	\$200,475.00
D15	SAFETY END TREATMENT (PARALLEL WALLS)	EA	1.00	\$25,000.00	\$25,000.00	\$9,231.35	\$9,231.35	\$22,000.00	\$22,000.00
D16	TYPE D MANHOLE - 4'X4' JUNCTION BOX	EA	3.00	\$12,765.00	\$38,295.00	\$6,182.39	\$18,547.17	\$7,550.00	\$22,650.00
D17	TYPE D MANHOLE - 6'X4' JUNCTION BOX	EA	3.00	\$13,455.00	\$40,365.00	\$11,038.08	\$33,114.24	\$8,550.00	\$25,650.00
D18	TYPE D MANHOLE - 6'X6' JUNCTION BOX	EA	2.00	\$15,870.00	\$31,740.00	\$9,720.30	\$19,440.60	\$10,025.00	\$20,050.00
D19	TYPE D MANHOLE - 8'X4' JUNCTION BOX	EA	6.00	\$17,250.00	\$103,500.00	\$18,383.86	\$110,303.16	\$10,550.00	\$63,300.00
D20	TYPE D MANHOLE - 8'X8' JUNCTION BOX	EA	6.00	\$25,300.00	\$151,800.00	\$25,231.63	\$151,389.78	\$11,616.67	\$69,700.02
D21	TYPE A MANHOLE - 5' DIA	EΑ	2.00	\$9,660.00	\$19,320.00	\$7,614.93	\$15,229.86	\$7,165.00	\$14,330.00
D22	18" RCP (CLASS III)	I.F.	655.00	\$138.00	\$90,390.00	\$117.72	\$77,106.60	\$80.56	\$52,766.80
D23	24" RCP (CLASS III)	LF	755.00	\$155.25	\$117,213.75	\$143.33	\$108,214.15	\$86.45	\$65,269.75
D24	30" RCP (CLASS III)	LF	60.00	\$201.25	\$12,075.00	\$165.20	\$9,912.00	\$115.93	\$6,955.80
D25	36" RCP (CLASS III)	LF	460.00	\$232.30	\$106,858.00	\$216.30	\$99,498.00	\$146.28	\$67,288.80
D26	48" RCP (CLASS III)	LF	20.00	\$289.80	\$5,796.00	\$533.20	\$10,664.00	\$246.72	\$4,934.40
D27	3'X3' REINFORCED CONCRETE BOX	LF	240.00	\$399.05	\$95,772.00	\$443.24	\$106,377.60	\$744.00	\$178,560.00
D28	4'X3' REINFORCED CONCRETE BOX	LF	375.00	\$433.00	\$162,375.00	\$487.51	\$182,816.25	\$492.74	\$184,777.50
D29	4'X4' REINFORCED CONCRETE BOX	LF	745.00	\$531.30	\$395,818.50	\$535.69	\$399,089.05	\$611.69	\$455,709.05
D30	5'X3' REINFORCED CONCRETE BOX	LF	340.00	\$576.15	\$195,891.00	\$598.56	\$203,510.40	\$647.32	\$220,088.80
D31	5'X4' REINFORCED CONCRETE BOX	LF	1,120.00	\$615.25	\$689,080.00	\$645.87	\$723,374.40	\$697.99	\$781,748.80
D32	5'X5' REINFORCED CONCRETE BOX	LF	185.00	\$672.75	\$124,458.75	\$680.74	\$125,936.90	\$741.04	\$137,092.40
D33	6'X4' REINFORCED CONCRETE BOX	LF	2,015.00	\$700.00	\$1,410,500.00	\$770.38	\$1,552,315.70	\$771.84	\$1,555,257.60
D34	6'X5' REINFORCED CONCRETE BOX	LF	1,475.00	\$840.65	\$1,239,958.75	\$810.22	\$1,195,074.50	\$802.24	\$1,183,304.00
D35	6'X6' REINFORCED CONCRETE BOX	LF	40.00	\$840.65	\$33,626.00	\$905.88	\$36,235.20	\$846.40	\$33,856.00
D36	24" RCP 30° BENDS	EA	1.00	\$2,875.00	\$2,875.00	\$3,272.42	\$3,272.42	\$553.00	\$553.00
D37	6'X4' REINFORCED CONCRETE BOX 15° BENDS	EΑ	1.00	\$18,400.00	\$18,400.00	\$7,007.57	\$7,007.57	\$11,227.00	\$11,227.00
D38	5'X4' REINFORCED CONCRETE BOX 30° BENDS	EA	1.00	\$16,100.00	\$16,100.00	\$10,120.19	\$10,120.19	\$9,578.00	\$9,578.00
D39	6'X4' REINFORCED CONCRETE BOX 30° BENDS	EA	2.00	\$18,400.00	\$36,800.00	\$10,120.29	\$20,240.58	\$11,227.24	\$22,454.48
D40	REINFORCED CONCRETE CURB AND GUTTER (6-INCH) (INCLUDES	LF	14,580.00	\$30.00	\$437,400.00	\$52.57	\$766,470.60	\$28.00	\$408,240.00
D41	RIPRAP (12") (TXDOT ITEM 432)	SY	55.00	\$150.00	\$8,250.00	\$222.26	\$12,224.30	\$100.00	\$5,500.00
D42	TRENCH SAFETY	LF	8,485.00	\$5.00	\$42,425.00	\$2.28	\$19,345.80	\$3.89	\$33,006.65
D43	ALLOWANCE FOR UNANTICIPATED STORM WATER IMPROVEMENTS	S AL	1.00	\$230,000.00	\$230,000.00	\$230,000.00	\$230,000.00	\$230,000.00	\$230,000.00
Sub Totals					\$7,341,231.75		\$7,700,142.66		\$6,835,618.79
PART E - WATER IMPROVEMENTS					<b>*</b> • • • • • • • • • • • • • • • • • • •	<b></b>	<b>A.A.</b>	<b>.</b>	<b>***</b>
E1	MOBILIZATION (MAX. 5% OF PART E)	LS	1.00	\$35,000.00	\$35,000.00	\$40,153.79	\$40,153.79	\$60,000.00	\$60,000.00
E2	REMOVE ASBESTOS CEMENT PIPE	LF	1,140.00	\$36.00	\$41,040.00	\$17.10	\$19,494.00	\$27.93	\$31,840.20
E3	ABANDON WATERLINE IN PLACE - CAP AND GROUT	LF	5,670.00	\$33.60	\$190,512.00	\$4.56	\$25,855.20	\$11.88	\$67,359.60
E4	8-INCH DIA C900 PVC WATERLINE (DR 18)	LF	5,350.00	\$94.00	\$502,900.00	\$56.66	\$303,131.00	\$78.30	\$418,905.00
E5	8-INCH DIA DI WATERLINE	LF	508.00	\$117.60	\$59,740.80	\$128.80	\$65,430.40	\$96.67	\$49,108.36

Grand Total					\$16,483,480.30		\$17,320,831.37		\$19,501,182.21
Sub Totals					\$288,500.00		\$108,870.08		\$122,400.00
G3	ALLOWANCE FOR UNANTICIPATED GAS IMPROVEMENTS	AL	1.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
G2	TRENCHING FOR GAS LINE	LF	8,950.00	\$30.00	\$268,500.00	\$10.86	\$97,197.00	\$12.00	\$107,400.00
G1	MOBILIZATION (MAX. 5% OF PART I)	LS	1.00	\$10,000.00	\$10,000.00	\$1,673.08	\$1,673.08	\$5,000.00	\$5,000.00
PART G - GAS IMPROVEMENTS									
					, ,,_, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		, .,,		, 1,111,2000
Sub Totals	The state of the s	AL		Ψ33,333.00	\$1,271,933.75	455,555.50	\$1,396,244.26	Ψ33,333.00	\$1,050,296.70
F10	ALLOWANCE FOR UNANTICIPATED WASTEWATER IMPROVEMENTS		1.00	\$55,000.00	\$55,000.00	\$55,000.00	\$55,000.00	\$55,000.00	\$55,000.00
F9	TRENCH SAFETY FOR WASTEWATER MANHOLE	LF EA	15.00	\$488.75	\$7,331.25	\$399.00	\$5,985.00	\$2,200.00	\$33,000.00
F8	18" STEEL CASING - CONFLICT STRUCTURES	LA LF	60.00	\$517.50	\$31,050.00	\$384.52	\$23,071.20	\$349.50	\$20,970.00
F7	4-FOOT DIA FIBERGLASS MANHOLE	EA EA	25.00	\$10,120.00	\$253,000.00	\$7,574.78	\$189,369.50	\$5,585.28	\$139,632.00
F6	WASTEWATER SERVICE RECONSTRUCTION		70.00	\$1,610.00	\$112,700.00	\$4,024.73	\$281,731.10	\$1,545.26	\$108,168.20
F5	TRENCH SAFETY REMOVE & REPLACE WASTEWATER LINE (6' - 8'	LF I F	6,050.00	\$3.45	\$20,872.50	\$2.28	\$13,794.00	\$5.64	\$34,122.00
F4	REMOVE AND REPLACE 8" DR 26 WASTEWATER LINE (6' - 8' DEPTH)	LS	6,050.00	\$101.20	\$612,260.00	\$114.19	\$690,849.50	\$80.15	\$484,907.50
F3	6-INCH FORCEMAIN ADJUSTMENTS (70 LF)	LS	1.00	\$11,270.00	\$11,270.00	\$17,343.96	\$17,343.96	\$14,497.00	\$14,497.00
F2	BYPASS PUMPING	LS	1.00	\$118,450.00	\$118,450.00	\$74,100.00	\$74,100.00	\$120,000.00	\$120,000.00
PART F - WASTEWATER IMPROVEMENTS F1	MOBILIZATION (MAX. 5% OF PART F)	1.0	1.00	\$50,000.00	\$50,000.00	\$45,000.00	\$45,000.00	\$40,000.00	\$40,000.00
Sub Totals					\$1,469,488.80		\$1,034,062.74		\$1,326,137.42
E26	ALLOWANCE FOR UNANTICIPATED WATER IMPROVEMENTS	AL	1.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
E25	TRENCH SAFETY	LF	5,670.00	\$2.50	\$14,175.00	\$2.28	\$12,927.60	\$4.65	\$26,365.50
E24	SERVICE LINE REPLACEMENT (SHORT)	EA	22.00	\$1,132.75	\$24,920.50	\$1,374.47	\$30,238.34	\$1,494.59	\$32,880.98
E23	SERVICE LINE REPLACEMENT (LONG)	EA	45.00	\$1,380.00	\$62,100.00	\$1,343.34	\$60,450.30	\$1,525.64	\$68,653.80
E22	FIRE HYDRANT ASSEMBLY (TYPE 2) (INCLUDING FH, VALVE AND DI	FA	15.00	\$9,660.00	\$144,900.00	\$8,338.54	\$125,078.10	\$10,260.00	\$153,900.00
E21	FIRE HYDRANT ASSEMBLY (TYPE 1) (INCLUDING FH, VALVE AND DI	FA	3.00	\$9,775.00	\$29,325.00	\$7,716.03	\$23,148.09	\$9,903.33	\$29,709.99
E20	6-INCH TIE-IN CONNECTION	EA	9.00	\$3,220.00	\$28,980.00	\$3,078.22	\$27,703.98	\$6,840.00	\$61,560.00
E19	6-INCH GATE VALVE & BOX	EA	9.00	\$1,725.00	\$15,525.00	\$2,053.51	\$18,481.59	\$1,958.00	\$17,622.00
E18	6-INCH BEND (45 DEG)	EA	22.00	\$1,006.25	\$22,137.50	\$738.33	\$16,243.26	\$1,090.00	\$23,980.00
E17	6-INCH BEND (22.5 DEG)	EA	15.00	\$741.75	\$11,126.25	\$738.29	\$11,074.35	\$1,055.00	\$15,825.00
E16	6-INCH BEND (11.25 DEG)	EA	1.00	\$718.75	\$718.75	\$739.14	\$739.14	\$995.00	\$995.00
E15	6-INCH DIA DI WATERLINE	LF I F	195.00	\$110.40	\$21,528.00	\$110.74	\$21,594.30	\$105.15	\$20,504.25
E14	6-INCH DIA C900 PVC WATERLINE (DR 18)	EA L F	320.00	\$85.20	\$27,264.00	\$69.66	\$22,291.20	\$72.24	\$23,116.80
E13	8-INCH TIE-IN CONNECTION	EΑ	5.00	\$3,360.00	\$16,800.00	\$3,171.59	\$15,857.95	\$3,690.00	\$18,450.00
E12	8" X 8" TEE	EΑ	4.00	\$1,230.00	\$4,920.00	\$1,236.53	\$4,946.12	\$1,460.00	\$5,840.00
E11	8" X 6" TEE	EΑ	9.00	\$1,170.00	\$10,530.00	\$738.39	\$6,645.51	\$1,355.56	\$12,200.04
E10	8" X 8" TAPPING SLEEVE	EΑ	1.00	\$9,840.00	\$9,840.00	\$2,855.73	\$2,855.73	\$3,805.00	\$3,805.00
E9	8-INCH GATE VALVE & BOX		35.00	\$3,000.00	\$105,000.00	\$2,800.54	\$98,018.90	\$2,557.74	\$89,520.90
E7 E8	8-INCH BEND (45 DEG)	EA EA	32.00	\$1,140.00	\$36,480.00	\$862.77	\$27,608.64	\$1,192.50	\$38,160.00
	8-INCH BEND (22.5 DEG)	_ ∧	3.00	\$822.00	\$2,466.00	\$831.67	\$2,495.01	\$1,175.00	\$3,525.00